Modular Precision Tooling



MPT

Modular Precision Tooling

contents

Tool Selection Guide H4
Shanks Hé
Extensions and Reducers H19
Toolholders H22
Rough Boring Heads H30
Combi Boring Heads H36

) TaeguTec



Guide to Icons

Spare Parts

il

> Insert Page > Spare Parts Page > Toolholders Page
ratn
L ¢
> Slide Page > Cutting Condition Page
o]
«
Fine Boring Heads H38
Boring Inserts H61
Kits H65
Spare Parts H71
Recommeded Cutting Conditions H84
Technical Data H92

l'-",‘ TaeguTe




Tool Selection Guide

MPT system
Shanks
SKA/SKB
$3 He-H7
HSK
$Z Ho-H10
Extensions and reducers
x S 1o
IM XMZ MB m EE?
&
CATM
O™ RE §2ZH20
| | —r o
BT/BTB @ =) > =
12
REAVI S Hot
ISOMISO =] =~ 7
O AR AR
CMB — 0 CHS §ZHo21
- A i
& e i (R =
F% |
MIT _———T 7 | | | EH@
- [0
jO: bt
CHR §Z Hot
ST w
O [RYRIT- R ma—— ‘
J
R8 =
O
DIN2079
j@: T

> TaeguTec




Tool Selection Guide
MPT system

Rough boring heads
BHR § ¥ H30

Toolholders

\

= i
i
B I

CHA @ H34

Combi boring heads
BHC §ZFH3s

=

Fine boring heads

BHE 5.2 Has-H3o

==
| 5zt 517
SiE S
| el

BHF { ZH43-45

BLANK H29

BHF 50,63,80
§ 2 Ha5

E
g

) TaeguTec




SKA-MB Shanks

Taper shank with MB connection

L
(U] SS
B
GHIT T 1CSl
L1
G T
DIN 69871- AD /1SO 7388/1  MB DIN 69871 ADB MB
Fig.1 Fig.2
Designation Dimension (mm) G & Fig
SS Csl L L1 D2 )
SKA 30-MB32 30 MB32 30 10.5 - M12 0.6 1
30-MB50 30 MB50 60 41 - M12 0.7 1
40-MB40 40 MB40 45 26 - M16 0.9 1
40-MB50 40 MB50 48 29 - M16 1.2 1
40-MB63 40 MB63 80 61 - M16 1.6 1
45-MB50 45 MB50 48 29 - M20 1.9 1
45-MB63 45 MB63 60 4 - M20 0.2 1
45-MB80 45 MB80 66 47 - M20 2.3 1
50-MB50 50 MB50 48 29 - M24 2.8 1
50-MB63 50 MB63 56 37 - M24 3.0 1
50-MB80 50 MB80 62 43 - M24 3.6 1
40 MB40x120 A/B 40 MB40 120 101 44.50 M16 1.7 2
40 MB50x120 A/B 40 MB50 120 101 - M16 2.8 2
50 MB50x120 A/B 50 MB50 120 101 60.00 M24 4.0 2
50 MB63x150 A/B 50 MB63 150 131 70.00 M24 2.8 2
50 MB80x180 A/B 50 MB80 180 161 - M24 7.9 2
50 MB110x150 50 MB110 150 131 - M24 8.2 2
60 MB80x65 60 MB80 65 46 - M30 10.7 2
60 MB110x100 60 MB110 100 81 - M30 10.5 2
60 MB110x200 60 MB110 200 181 - M30 18.0 2

o (Cutting edge position

> TaeguTec




SKB-MB Shanks

Taper shank with MB connection

SS
I
— =
G l!!;!ﬁg!ﬂ|||\| -
]
L g
HL_1)
PEELEN
DIN 69871-FORM B MB
Designation DTG G &
SS Csl L L1
SKB 40-MB50 40 MB50 48 29 M16 0.9
40-MB63 40 MB63 80 - M16 1.5
45-MB50 45 MB50 48 29 M20 1.7
45-MB63 45 MB63 60 4 M20 1.9
50-MB50 50 MB50 48 29 M24 2.7
50-MB63 50 MB63 56 37 M24 2.8
50-MB80 50 MB80 62 43 M24 3.4

e (Cutting edge position

) TaeguTec [



CATM-MB Shanks

Taper shank with MB connection

=1 - -1 CSl

Dimension (mm)

Designation sS csl L G G &
CATM 40-MB50 40 MB50 66 47 M16 1.1
40-MB63 40 MB63 100 - M16 1.9
45-MB50 45 MB50 48 29 M20 1.7
45-MB63 45 MB63 75 56 M20 2.1
45-MB80 45 MB80 80 - M20 2.7
50-MB50 50 MB50 48 29 M24 2.9
50-MB63 50 MB63 56 37 M24 29
50-MB80 50 MB80 62 43 M24 3.2

o (WCutting edge position

> TaeguTec




HSK A-MB Shanks

HSK shank with MB connection

()

csl| D2

Al

HSK DIN 69893  MB HSK DIN 69893-A MB
Fig.1 Fig.2
Designation Rl @ Fig
SS csl L L1 D2 )
HSKA 50-MB50 50 MB50 66 - - 0.6 1
63-MB40 63 MB40 60 34 - 1.0 1
63-MB40x120 63 MB40 120 94 46 1.6 2
63-MB50 63 MB50 66 40 - 0.9 1
63-MB50x120 63 MB50 120 94 - 1.1 2
63-MB63 63 MB63 75 - - 11 1
80-MB50 80 MB50 70 44 - 1.5 1
80-MB63 80 MB63 80 54 - 1.8 1
80-MB80 80 MB80 86 - - 2.1 1
100-MB50 100 MB50 72 43 - 2.0 1
100-MB50x120 100 MB50 120 91 60 49 2
100-MB63 100 MB63 82 53 - 2.7 1
100-MB63x150 100 MB63 150 121 70 4.7 2
100-MB80 100 MB80 88 59 - 3.0 1
100-MB80x180 100 MB80 180 151 - 7.3 2

e (NCutting edge position

> TaeguTec




HSK E-MB/HSK F-MB

Shanks
HSK shank with MB connection
L L
(1) L1 (1) L1
! !
B 1 == v
T ST
Hcsi ss| 1o csi
i j-ﬂ!’fi\ i
£l
HSK DIN 69893-E MB HSK DIN 69893-F MB
Fig.1 Fig.2
Designation PAieSiofT ) ﬁ Fi
9 sS csl L L1 o
HSK E 40 MB32 40 MB32 42 22 0.5 1
50 MB50 50 MB50 66 - 0.6 1
HSK F 63 MB50 63 MB50 66 40 0.8 2

e (NCutting edge position

> TaeguTec



IM XMZ MB/C-MB Shanks

MB connection with ISO 26622-1 XMZ taper shank / C-adapter taper shank

L L
L1 L1
i ! ! —
R ' N % I 1
ss| L ()Lt -{csl 8s o al e
gy s
| i==1 R 1
Fig.1 Fig.2
Designation Dimension (mm) & Fi
9 ss csl L L1 9
IM 63 XMZ MB50 63 MB50 50 32 1.0 1
63 XMZ MB63 63 MB63 70 52 1.3 1
C6 MB50x67 63 MB50 67 45 1.1 2
MB63x77 63 MB63 77 - 1.8 2
C8 MB63x70 80 MB63 70 39 2.3 2

() TaeguTec




BT-MB/BTB-MB

BT form taper shanks with MB connection

Shanks

)

.
&/
P J‘ L1
& Tl
BT MAS-403 AD MB BT MAS 403 form ADB MB BT MAS 403 form B~ MB
Fig.1 Fig.2 Fig.3
Designation it ol ! G ﬁ Fig
SS CSl L L1 D2 )
BT 30-MB32 30 MB32 32 10.6 - M12 0.5 1
30-MB50 30 MB50 60 38.6 - M12 0.7 1
35-MB50 35 MB50 60 36 - M12 0.8 1
40-MB40 40 MB40 45 18 - M16 0.6 1
40-MB50 40 MB50 48 21 - M16 0.9 1
40-MB63 40 MB63 66 39 - M16 1.2 1
45-MB50 45 MB50 62 29 - M20 1.7 1
45-MB63 45 MB63 70 37 - M20 2.3 1
45-MB80 45 MB80 70 37 - M20 2.7 1
50-MB50 50 MB50 66 28 - M24 3815 1
50-MB63 50 MB63 75 37 - M24 3.7 1
50-MB80 50 MB80 75 37 - M24 4.0 1
40-MB40x120 A/B 40 MB40 120 93 44.5 M16 0.9 2
40-MB50x120 A/B 40 MB50 120 93 - M16 1.9 2
50-MB50x120 A/B 50 MB50 120 82 60 M24 42 2
50-MB63x150 A/B 50 MB63 150 112 70 M24 5.8 2
50-MB80x180 A/B 50 MB80 180 142 - M24 7.5 2
50-MB110x140 50 MB110 140 102 - M24 6.8 2
60-MB110x110 60 MB110 110 63 - M30 11.5 2
60-MB110x200 60 MB110 200 152 - M30 18.1 2
BTB 40-MB50 40 MB50 48 21 - M16 0.9 3
40-MB63 40 MB63 66 - - M16 1.2 3
50-MB50x66 50 MB50 66 28 - M24 815 3
50-MB63x75 50 MB63 75 37 - M24 3.7 3
50-MB80 50 MB80 75 37 - M24 4.0 3

o (ICutting edge position

> TaeguTec



ISOM-MB/IS0-MB Shanks

Taper shank with MB connection

) U]
1 ss SS n
| N g
i — —{csl P |
ik S
(i) G >
G| L L
Fig.1 Fig.2
Designation Dimension (mm) G @ Fig
SS csl L L1
ISOM 30-MB50 30 MB50 58 - M12 0.6 1
40-MB50 40 MB50 48 36 M16 0.9 1
40-MB63 40 MB63 60 - M16 1.2 1
45-MB50 45 MB50 48 33 M20 1.6 1
45-MB63 45 MB63 60 45 M20 1.9 1
45-MB80 45 MB80 66 - M20 2.2 1
50-MB50 50 MB50 48 33 M24 2.6 1
50-MB63 50 MB63 56 41 M24 2.7 1
50-MB80 50 MB80 60 45 M24 3.2 1
1ISO  40-MB50 40 MB50 48 36 UNC 5/8”-11 0.9 2
40-MB63 40 MB63 60 - UNC 5/8”-11 1.2 2
50-MB50 50 MB50 48 33 UNC 1”-8 2.6 2
50-MB63 50 MB63 56 41 UNC 1”-8 2.7 2
50-MB80 50 MB80 60 45 UNC 1"-8 3.2 2

e (NCutting edge position

> TaeguTec




ST-MB Shanks

Straight shanks with MB connection

L
L1
ss| +-———-—-—-—| - —t CSl M- -—7| Csl
| L1
L
Fig.1 Fig.2
Designation Dl ol ) & Fi
9 ss csl L L1 g

ST 16-MB16 16 MB16 100 66 0.2 1
20-MB20 20 MB20 125 85 0.3 1
25-MB32 25 MB32 100 35 0.7 2
32-MB50 32 MB50 140 60 1.0 2

o (WCutting edge position

> TaeguTec




ST MB-E Shanks

Straight carbide shanks with MB connection

L3

dhe

- Dimension (mm)
Designation csi d L Ls Lmax [
ST16 MB16x110E MB16 16 110 144 100 0.3
MB16x140E MB16 16 140 174 125 0.4
MB16x170E MB16 16 170 204 160 0.5
ST20 MB20x135E MB20 20 135 175 125 0.6
MB20x170E MB20 20 170 210 160 0.8
MB20x210E MB20 20 210 250 200 0.9
ST25 MB25x160E MB25 25 160 210 160 1.0
MB25x205E MB25 25 205 255 200 1.3
MB25x255E MB25 25 255 305 250 1.6
ST32 MB32x195E MB32 32 195 258 200 2.1
MB32x250E MB32 32 250 313 250 2.8
MB32x315E MB32 32 315 378 320 35

() TaeguTec




ST-MB Shanks

ST-MB straight carbide shank with MB connection assembly options

ST16-ST32 MB16-MB32
Diameter range: 18-50 mm

HSK HSK
HSK HSK
DIN DIN
BT BT
@)

Milling chuck = 1=
| S
ER collet chuck
Straight carbide shank
ST16-ST32
~| BHF MB16-BHF MB32
IHRF16-IHRF32
IHFF25-IHFF32 ;
o)
BHR MB 16-BHR MB 32 ) BHE-MB
Rough boring head range18-50 dia Fine boring heads CC-MB-ER

L j 18-50 dia range

ER collet chuck

IIHSR18-IHSR50
IHCR28-IHCR50
IHPR36-IHPR50

> TaeguTec




R8 MB50

Bridgeport shanks with MB connection

Shanks

U]

Ss
\
G JE—H———+—-—csl
e \
L
Designation DS ol ! Gi &
9 ss csl L
R8 MB50 R8 MB50 50 UNF 7/16-20 0.8
o (NCutting edge position
MTT 5-MB63 Shanks
Morse taper shanks with MB connection
U]
T
R =
* :——@ |- Hcsl
I
‘ Ty T
L
Desianation Dimension (mm) &
g csl T L
MTT 5-MB63 MB63 MT5 65 2.1

o ()Cutting edge position

) TaeguTec Y



DIN 2079 MB Shanks

Connecting plates

L3 L
Csl
|
Da| ) D1
Yy ||
L1 e
N Dimension (mm)
Designation csl L Ls L D1 D2 Da D5 Gi [
DIN 2079 MB50 40 MB50 35 10 21 90 110 88.89 66.7 M12 1.8
MB63 40 MB63 45 10 31 90 110 88.89 66.7 M12 2.0
MB63 50 MB63 45 12 31 135 150 128.57 101.6 M16 5.4
MB80 50 MB80 45 12 31 135 150 128.57 101.6 M16 53

¢ Astandard connecting plate that can be assembled easily on most CNC spindle machines with a DIN 2079 interface.
This connection plate enables the use of MPT components with the MB connection by using any standard adapter with
four screws. It is fixed directly on the machine spindle.

> TaeguTec




EX-MB

Extensions for MB connection

Extensions and Reducers

SS | H +CSI
L
N Dimension (mm)
Designation sS csi L ﬁ
EX 14x25-MB14 MB14 MB14 25 0.2
16x25-MB16 MB16 MB16 25 0.4
20x32-MB20 MB20 MB20 32 0.7
25x25-MB25 MB25 MB25 25 0.9
25x40-MB25 MB25 MB25 40 0.2
32x32-MB32 MB32 MB32 32 0.2
32x50-MB32 MB32 MB32 50 0.3
40x40-MB40 MB40 MB40 40 0.4
40x63-MB40 MB40 MB40 63 0.6
50x50-MB50 MB50 MB50 50 0.7
50x80-MB50 MB50 MB50 80 1.1
50x100-MB50 MB50 MB50 100 15
63x63-MB63 MB63 MB63 63 1.4
63x100-MB63 MB63 MB63 100 2.2
63x125-MB63 MB63 MB63 125 2.9
80x80-MB80 MB80 MB80 80 3.0
80x125-MB80 MB80 MB80 125 4.6
80x160-MB80 MB80 MB80 160 6.1
110x140-MB110 MB110 MB110 140 0.0
110x200-MB110 MB110 MB110 200 0.0

> TaeguTec




RE MB-MB Extensions and Reducers

Reducers for MB connection

M
ss| H-— ———1 -t Csl
WU
| L1
I S
L Dimension (mm)
Designation ss csi L % &
RE MB16-MB14x24 MB16 MB14 24 19.5 0.3

MB20-MB14x19 MB20 MB14 19 13.5 0.4
MB20-MB16x20 MB20 MB16 20 16 0.5
MB25-MB14x19 MB25 MB14 19 13.5 0.6
MB25-MB16x20 MB25 MB16 20 15 0.8
MB25-MB20x25 MB25 MB20 25 20 0.9
MB32-MB14x25 MB32 MB14 25 17 1.0
MB32-MB16x24 MB32 MB16 24 18 1.3
MB32-MB20x25 MB32 MB20 25 20 1.6
MB32-MB25x28 MB32 MB25 28 23 21
MB40-MB14x23 MB40 MB14 23 16 2.8
MB40-MB16x24 MB40 MB16 24 17 85
MB40-MB20x26 MB40 MB20 26 20 04
MB40-MB25x28 MB40 MB25 28 22 0.5
MB40-MB32x32 MB40 MB32 32 27 0.6
MB50-MB14x23 MB50 MB14 23 14.5 0.8
MB50-MB14x39 MB50 MB14 39 30.5 0.9
MB50-MB16x24 MB50 MB16 24 15 1.0
MB50-MB16x40 MB50 MB16 40 31 1.3
MB50-MB16x74 MB50 MB16 74 65 1.6
MB50-MB20x26 MB50 MB20 26 18 3.5
MB50-MB20x70 MB50 MB20 70 62 0.4
MB50-MB20x93 MB50 MB20 93 85 0.5
MB50-MB25x28 MB50 MB25 28 21 0.6
MB50-MB25x87 MB50 MB25 87 80 0.8
MB50-MB25x117 MB50 MB25 117 110 815
MB50-MB32x32 MB50 MB32 32 25 0.4
MB50-MB32x87 MB50 MB32 87 80 0.5
MB50-MB32x144 MB50 MB32 144 137 0.6
MB50-MB40x36 MB50 MB40 36 30 0.8
MB50-MB40x87 MB50 MB40 87 80 0.9
MB50-MB40x176 MB50 MB40 176 170 1.0
MB63-MB50x40 MB63 MB50 40 34 1.3
MB80-MB50x45 MB80 MB50 45 36 1.6
MB80-MB63x60 MB80 MB63 60 52 1.6
MB110-MB80x70 MB110 MB80 70 52 6.0

> TaeguTec




RE MB-AVI Extensions and Reducers

Vibration dampening reducers

CSl CSl
SS| i 6 = D2 sS - - - :‘ES:H D2
L1 L1
L L
Fig.1 Fig.2
Designation imeSioflk ) ﬁ Fi
9 SS csi D2 L Lt g-
RE MB50-MB16x74-AVI MB50 MB16 17.5 74 65 0.4 1
MB50-MB20x93-AVI MB50 MB20 215 93 85 0.5 1
MB50-MB25x117-AVI MB50 MB25 27 117 110 0.8 1
MB50-MB32x144-AVI MB50 MB32 35 144 138 1.4 1
MB50-MB40x176-AVI MB50 MB40 47 176 170 2.5 1
MB63-MB50x220-AVI MB63 MB50 60 220 214 5.6 1
MB80-MB63x280-AVI MB80 MB63 77 280 272 10.6 2

CHS MB-R/CHR MB Extensions and Reducers

Coolant extensions for MB connection

*‘5¢ Ras
15
R e j 5
T
o I
- et 1t CSl| Dt
SS| — e P t——H- CSI| D1
L1 L1
Lo L | Figd - Fig.2
Designation PATIEIS ) ﬁ Fi
9 SS ¢Sl R __ Di L L1 L2 RPMwax Bar 9
CHS MB50-R65 MBS0 MBS0 65 80 72 285 43 7000 10 | 19 1
MB50-R80 MB50 MB50 80 80 72 285 43 7000 10 | 25 1
MB63-R80 MB63 MB63 80 100 88 370 51 5600 10 | 50 1
CHRMB63 MB63 MB63 - 115 63 35 - 3500 10 | 50 2

 Important: Start coolant flow prior to rotating the spindle to avoid damage of the O rings.
¢ Use with stop block. (not included)

() TaeguTec




EMH MB Toolholders

Weldon holder with MB connection

L
MB Weldon-DIN 1835 B/E

Ls Lmax
SS {HE 77777

e 2° W.-Notch
/’V“\/ EMH 1835-E

Bl
L1 Y Weldon

1Ml

"EMH 1835-B
Fig.1 Fig.2
Designation DTG () @ Fig
SS d2 D1 L L1 Ls Lmax )
EMH MB50-8 MB50 8 28 44 33 7 2 0.5 1
MB50-10 MB50 10 35 52 42 1 3 0.7 1
MB50-12 MB50 12 42 57 48 1 3 0.8 1
MB50-14 MB50 14 42 57 48 1 8 0.8 1
MB50-16 MB50 16 48 67 61 17 4 1.1 1
MB50-20 MB50 20 51 67 - 16 4 1.2 1
MB63-16 MB63 16 48 64 53 14 4 1.4 1
MB63-20 MB63 20 52 66 56 14 4 1.5 1
MB63-25 MB63 25 64 74 - 16 4 2.1 2
MB63-32 MB63 32 72 76 - 14 4 2.5 2
MB80-40 MB80 40 80 83 - 12 4 3.2 2

Spare Parts

H71-H83

> TaeguTec




CC MB-ER

ER Collet chucks with MB connection

Toolholders

L
MB s, 2 DIN 6499
K
=
CSI
o Dimension (mm)
L ss csl dmin O Ds L Ls [}
CCMB16 ER11M MB16 ERM 0.5 7.0 16 25 2.5 0.03
MB20 ER16M MB20 ER16 0.5 10.0 22 32 1.0 0.06
MB25 ER20M MB25 ER20 1.0 13.0 28 40 25 0.15
MB32 ER25M MB32 ER25 1.0 16.0 35 42 15 0.25
MB40 ER25 MB40 ER25 1.0 16.0 42 45 5.0 0.25
MB50 ER25 MB50 ER25 1.0 16.0 42 48 7.0 0.70
MB50 ER32 MB50 ER32 2.0 20.0 50 59 7.0 1.00
MB63 ER32 MB63 ER32 2.0 20.0 50 59 12 1.30
MB63 ER40 MB63 ER40 3.0 26.0 63 64 12 1.50
DC MB Toolholders
Drill chucks with MB connection
MB L 24 DIN 238
Wv’— "
T el
Tt°
Designation Dimension (mm) &
9 sS L T
DC MB50 B16 MB50 10.0 B16 0.4
MB63 B16 MB63 135 B16 0.8

Spare Parts| @ (WWithout drill chuck
B3
H71-H83

) TaeguTec




SMH-MB Toolholders

Shell mill holders with MB connection

MB L L ISO 3937/DIN 6357

5 . G1 ] d| D1
N Dimension (mm)
Designation SS d D1 G L 0 &
SMH MB40-16 MB40 16 32 M8 15 17 0.5
MB40-22 MB40 22 40 M10 13 19 0.4
MB50-16 MB50 16 32 M8 15 17 0.5
MB50-22 MB50 22 40 M10 15 19 0.5
MB50-27 MB50 27 50 M12 15 21 0.6
MB50-32 MB50 32 70 M16 15 24 0.7
MB63-27 MB63 27 60 M12 15 21 1.1
MB63-32 MB63 32 70 M16 15 24 1.2
MB80-32 MB80 32 70 M16 15 24 1.9
MB80-40 MB80 40 88 M20 24 27 21
MB80-60 MB80 60 128.5 M30 31.5 40 85
MB110-60 MB110 60 128.5 M30 36.0 40 77

Spare Parts

H71-H83

> TaeguTec




STUB MB80-60 Toolholders

STUB 60 Holder with an MB80 connection

D{ 85 ol o4
L L2
Designation Dimension (mm)
g SS d D1 D4 G2 L L2
STUB MB20-60 MES 60 84 84 M30 315 40 63

TP MB-M Toolholders

Tapping chucks with MB modular system connection

L -
Fb, ¢ Ff Fbqu upFi

] ™) °
L IR

B

SS
-t
e b
Designation Dimension (mm) @
SS  TAPmin  TAPmax L1 L D1 d2 FIf Flb
TP MB50-M 3-12 MB50 M3 M12 60 72 36 19 7.5 75 0.8

MB50-M 8-20 MB50 M8 M20 - 106 53 31 12.5 12.5 1.6
MB63-M 3-12 MB63 M3 M12 58 70 36 19 7.5 75 1.2
MB63-M 8-20 MB63 M8 M20 93 104 53 31 125 125 1.9

) TaeguTec




TCS-DIN Toolholders

Quick change tap collets for solid taps

L2 L1
|
‘ - JF ¢
D3 = d2 D1
u 1
_ |
S L4 ‘
Designation Dimension (mm)
9 do s@ S16) S D1 D3 L4 L1 L2

TCS #1 DIN 6-4.9 6.0 4.9 M4.5,M6 M8 30 19 17 7 21.5
#1 DIN 7-5.5 7.0 5.5 M7 M10 30 19 17 7 21.5
#1 DIN 8-6.2 8.0 6.2 M8 - 30 19 17 7 215
#1 DIN 9-7 9.0 7.0 - M12 30 19 17 7 21.5
#1 DIN 10-8 10.0 8.0 M10 - 30 19 17 7 21.5
#1 DIN 11-9 11.0 9.0 M14 M14 30 19 17 7 21.5
#2 DIN 8x6.2 8.0 6.2 M8 - 48 31 30 1 35.0
#2 DIN 9x7 9.0 7.0 - M12 48 31 30 17 35.0
#2 DIN 10x8 10.0 8.0 M10 - 48 31 30 17 35.0
#2 DIN 11x9 11.0 9.0 - M14 48 31 30 17 35.0
#2 DIN 12x9 12.0 9.0 - M16 48 31 30 17 35.0
#2 DIN 14x11 14.0 1.0 - M18 48 31 30 17 35.0
#2 DIN 16x12 16.0 12.0 - M20 48 31 30 17 35.0

o (NAccording to tap shank size Square size @ Tap size according to DIN371 ) Tap size according to DIN376/374

> TaeguTec




TCC-DIN Toolholders

Quick change tap collets with a safety clutch

Dimension (mm)

BN d2" s@ S16) Sl D1 D3 L4 L1 L2
TCC #1 DIN 2.8-2.1 2.8 2.1 M2,M2.5 M4 32 19 17 25 21.5
#1 DIN 4-3 4.0 3.0 M3.5 - 32 19 17 25 21.5
#1 DIN 4.5-3.4 4.5 3.4 M4 M6 32 19 17 25 21.5
#1 DIN 6-4.9 6.0 4.9 M4.5,M6 M8 32 19 17 25 21.5
#1 DIN 7-5.5 7.0 5.5 M7 M10 32 19 17 25 215
#1 DIN 8-6.2 8.0 6.2 M8 - 32 19 17 25 21.5
#1 DIN 9-7 9.0 7.0 - M12 32 19 17 25 21.5
#1 DIN 10-8 10.0 8.0 M10 - 32 19 17 25 215
#1 DIN11-9 11.0 9.0 M10 M14 32 19 17 25 21.5
#2 DIN 6x4.9 6.0 4.9 M4.5,M6 M8 50 31 30 34 35.0
#2 DIN 7x5.5 7.0 5.5 M7 M10 50 31 30 34 35.0
#2 DIN 8x6.2 8.0 6.2 M8 - 50 31 30 34 35.0
#2 DIN 9x7 9.0 7.0 M7 M12 50 31 30 34 35.0
#2 DIN 10x8 10.0 8.0 M10 - 50 31 30 34 35.0
#2 DIN 11x9 11.0 9.0 - M14 50 31 30 34 35.0
#2 DIN 12x9 12.0 9.0 - M16 50 31 30 34 35.0
#2 DIN 14x11 14.0 1.0 - M18 50 31 30 34 35.0
#2 DIN 16x12 16.0 12.0 - M20 50 31 30 34 35.0

e (WAccording to tap shank size (Square size @ Tap size according to DIN371 ©) Tap size according to DIN376/374

a TaeguTec P



AMT MB-MT Toolholders

MB shanks for morse taper tang

DIN 228A DIN 228 B

|
1\\
W d?| D1

.
L Dimension (mm)
Designation SS T d2 D1 J L L [
AMT MB50-MT1 MB50 MT1 12.07 20 M6 80 68 0.6
MB50-MT2 MB50 MT2 17.78 30 M10 100 86 0.7
MB50-MT3 MB50 MT3 23.82 36 M12 120 110 1.0
MB63-MT3 MB63 MT3 23.82 36 M12 120 108 1.3
MB63-MT4 MB63 MT4 31.26 48 M16 150 133 2.0

Spare Parts

H71-H83

> TaeguTec




BLANK MB

Blanks with MB connection

Toolholders

MB Blanks
10
SS D1
{ HRC 22-25
- Dimension (mm)
Designation ss D1 L @
BLANK MB50-63x60 MB50 63 60 0.48
MB50-63x120 MB50 63 120 0.4
MB50-63x150 MB50 63 150 0.5
MB50-80x150 MB50 80 150 0.5
MB50-100x150 MB50 100 150 0.6
MB63-80x100 MB63 80 100 0.7
MB63-80x150 MB63 80 150 1.1
MB63-100x100 MB63 100 100 1.2
MB63-100x150 MB63 100 150 1.9
MB63-120x100 MB63 120 100 2.1
MB63-120x200 MB63 120 200 3.5
MB80-100x100 MB80 100 100 0.4
MB80-80x100 MB80 80 100 0.5
MB80-80x150 MB80 80 150 0.5
MB80-100x150 MB80 100 150 0.6
MB80-120x100 MB80 120 100 0.7
MB80-120x200 MB80 120 200 1.1
MB80-100x150 MB80 100 150 1.2
MB80-120x100 MB80 120 100 1.9
MB80-120x200 MB80 120 200 2.1
MB110-130x250 MB110 130 250 0.0

() TaeguTec




Rough Boring Options Rough Boring Heads

d d

(ﬁ [
. ;\A [ d % ‘%

IHSR IHSR PLT IHSR
IHCR IHSR

Fig.1 Fig.2 Fig.3

o When using the MPT system, it is strongly recommended that the user utilizes the tool pre-setting equipment provided to
set the radial cutting edges. The boring bars that are equipped with two inserts holders are for rough machining and heavy
stock removal.

o The bars are applicable to three types of machining scenarious:

- When two IHSR insert holders are on the same plane, the two cutting edges are placed at identical radial distances for
high feed rough machining(Fig. 1).

- When each IHCR and IHSR insert is not set on the same plane, each of the two cutting edges is placed at a different
radial distance for deep rough machining(Fig. 2).

- If boring bars are set with a single insert holder it allows rough and finish machining with normal chip removal. In this
situation, it is strongly recommended that a serrated surface protection plate (PLT) is used(Fig. 3).

BHR MB Rough Boring Heads

Rough boring heads 18-200mm range with MB connection

L
MB Rough boring - Insert holders

IH} Di| ss = < : j

Illl:iics)g IHPR IHBR IHSR BW

]

-
il

[~

A B c D

L Dimension (mm) Insert holders
Designation SS  dmm dmx D1 L L1 |Inserthodess A B G D [
BHR MB16-16x34 MB16 18 22 16 34 - |[IH..18-22 ° e | 005
MB20-20x40 MB20 22 28 20 40 - IH...22-28 [ [ 0.09
MB25-25x50 MB25 28 38 25 50 - IH...28-38 [ [ 0.20
MB32-32x63 MB32 36 50 32 63 - IH...36-50 [ [ [ 0.35
MB40-40x80 MB4 50 68 40 80 - |IH..50-68 ° ° e [070
MB50-50x100 MB50 68 90 55 100 50 |IH...68-90 . . ° 1.50
MB50-63x80 MB50 90 120 72 80 60 |IH...90-120 . ° ° ° 2.00
MB63-63x125 MB63 90 120 72 125 63 [IH..90-120 e ° ° e |300
MB80-80x140 MB8O 120 200 95 140 75 |IH..120-800 e ° . o [530

Cut
a'e Parts @ Condiign
= z
g ©

HB4-H91

> TaeguTec



TCH Rough Boring Heads
Rough boring aluminum body range: 200-500mm with MB connection
110
SSI ; i 40H7¢ d
SMH MB 80-40 \
IHSR/IHCR IHPR 1 IHBR *  IHSRBW}
IHSR 160-800 IHPR 160-800 IHBR 160-800
IHCR 160-800
Designation Dimension (mm) &
9 ss dmin dmax D1 IH...160-800
TCH 200 80 200 300 194 EHSE 128—%88 34
300 80 300 400 298 IHPR 160-800 4.3
400 80 400 500 398 IHBR 160-800 6.7
TCHA.L Rough Boring Heads
Rough boring aluminum body range: 500-800mm with MB connection
9
128 j 3
| 80 '
| IHSR BW
- ssI ld Daf d
D1 i =
707-6‘
M16x50 [
Typxd SMH MB110-60 IHSR 160-800
SMH MB80-60 +/HCR 160-800
IHPR 160-800 IHBR 160-880
L Dimension (mm)
DeS|gnat|on SS Omin dmax D1 Da &
TCHA.L 500 80,110 500 600 494 60 8.7
600 80,110 600 700 594 60 8.34
700 80,110 700 800 694 60 8.34
Spare Parts o Aluminum body with steel serrated seats

Cuttin

@ Condition
©

H84-H91

) TaeguTec




IHSR/IHCR/IHPR/IHBR Rough Boring Insert Holders

Ce [Ca | &g (A
oI RN 75K» o

Fig.1 Fig.2 Fig.3 Fig.4
L Dimension (mm) Spare parts )
DB IENEI dmin dmax f I Insert Insert screw Torx key Fig.

IHSR 18-22 18 22 8.0 15.0 | CCMT 0602... SR 14-548 T7/5 1
22-28 22 28 9.5 19.0 | CCMT 0602... SR 14-548 T7/5 1
28-38 28 38 12.5 23.0 | CCMT 0602... SR 14-548 T7/5 1
36-50 36 50 15.0 32.0 | CCMT 0602... SR 14-548 T7/5 1
50-68 50 68 19.0 40.0 | CCMT 09T3... TS 400971 T15/5 1
50-68-12 50 68 19.0 40.0 | CCMT 1204.. SR 16-212 T20/5 1
68-90 68 90 22.0 54.0 | CCMT 1204.. SR 16-212 T20/5 1
90-120 90 120 27.0 70.5 | CCMT 1204... SR 16-212 T20/5 1
120-160 120 160 32.0 945 | CCMT 1204.. SR 16-212 T20/5 1
160-800 160 800 32.0 130.0 | CCMT 1204.. SR 16-212 T20/5 1

IHCR 28-38 28 38 12.3 23.0 | CCMT 0602.. SR 14-548 T7/5 2
36-50 36 50 14.8 32.0 | CCMT 0602... SR 14-548 T7/5 2
36-50-09 36 50 14.8 32.0 |CCMT09T3.. TS 40097I T15/5 2
50-68 50 68 18.7 40.0 | CCMT 09T8.. TS 400971 T15/5 2
50-68-12 50 68 18.7 40.0 | CCMT 1204.. SR 16-212 T20/5 2
68-90 68 90 21.7 54.0 | CCMT 1204.. SR 16-212 T20/5 2
90-120 90 120 26.7 70.5 | CCMT 1204.. SR 16-212 T20/5 2
120-160 120 160 31.7 945 | CCMT 1204.. SR 16-212 T20/5 2
160-800 160 800 31.7 130.0 | CCMT 1204.. SR 16-212 T20/5 2

IHPR 36-50 36 50 15 32.0 | SCMT 09T3.. TS 400971 T15/5 3
50-68 50 68 19 40.0 | SCMT 09T8... TS 400971 T15/5 3
68-90 68 90 22 54.0 | SCMT 1204.. SR 16-212 T20/5 3
90-120 90 120 27 70.5 | SCMT 1204.. SR 16-212 T20/5 3
120-160 120 160 32 945 | SCMT 1204.. SR 16-212 T20/5 3
160-800 160 800 32 130.0 | SCMT 1204.. SR 16-212 T20/5 3

IHBR 90-120 90 120 27 70.5 | TCMT 2205.. SR 16-212 T20/5 4
120-160 120 160 32 94.5 | TCMT 2205.. SR 16-212 T20/5 4
160-800 160 800 32 130.0 | TCMT 2205.. SR 16-212 T20/5 4

H61-H64

> TaeguTec




IHSR-CH Rough Boring Insert Holders

Chamfering tools

f
D1 a&‘ ‘ii

Dea o Dimension (mm) Spare parts
dmin dmax  a° L3 I f | D1 Insert Insert screw Torx key
IHSR 26-38 CH15 26.0 380 15 23 247 135 1.7 25 | CCMTO0602.. SR 14-548 T-7/5
26-38 CH30 260 380 30 23 262 135 32 25 | CCMTO0602.. SR 14-548 T-7/5
26-38 CH45 260 380 45 23 275 135 45 25 | CCMTO0602.. SR 14-548 T-7/5
34.5-49 CH15 345 49.0 15 31 327 160 1.7 32 | CCMT0602.. SR 14-548 T-7/5
34.5-49 CH30 345 490 30 31 342 160 32 32 | CCMTO0602.. SR 14-548 T-7/5
34.5-49 CH45 345 49.0 45 31 355 160 45 32 | CCMT0602.. SR 14-548 T-7/5
46.5-66 CH15 465 660 15 39 415 200 25 40 | CCMTO09T3.. SR 16-236 T-15/5
46.5-66 CH30 465 66.0 30 39 438 20.0 48 40 | CCMTO09T3.. SR 16-236 T-15/5
46.5-66 CH45 465 660 45 39 458 20.0 6.8 40 | CCMTO09T3.. SR 16-236 T-15/5
65-88 CH15 65.0 88.0 15 53 555 230 25 50 | CCMT1204. SR 16-236 T-15/5
65-88 CH30 65.0 880 30 53 578 230 4.8 50 | CCMT1204.. SR 16-236 T-15/5
65-88 CH45 65.0 880 45 53 59.8 230 6.8 50 | CCMT1204.. SR 16-236 T-15/5

He1-He4

() TaeguTec




CHA...45° Rough Boring Insert Holders

Chamfering tools

45° dmax
e B
0| dn
I
DN gg
{1
) =
L
L Dimension (mm) Spare parts
DB IENEI dmn  dmax Da D1 L Insert Insert screw Torx key ﬁ
CHA16-45 18 28 16 28 13 DCMT 0702.. SR 14-548 T7/5 0.035
20-45 22 32 20 32 15 DCMT 0702.. SR 14-548 T7/5 0.045
25-45 28 43 25 43 18 DCMT 0702.. SR 14-548 T7/5 0.10
32-45 35 54 32 54 22 DCMT 0702.. SR 14-548 T7/5 0.20
40-45 46 72 40 72 30 DCMT 11T3.. SR 16-236P T15/5 0.50
50-45 56 95 50 95 38 DCMT 11T3.. SR 16-236P T15/5 1.10

* To minimize mismatch use insert radius 0.2 mm. )
¢ (NOnly one insert can be mounted on either one of the two pockets simultaneously.
H61-H64

> TaeguTec




IHSR-BW Rough Boring Insert Holders
Back face for BHR and TCH rough boring heads

drmin min

BHR 20-200 D1 TCH 202-802

T | o
90" 90°
11 I
Omax max
- Dimension (mm) Spare parts
e SS dmin  dmax Dt H f I Insert Insert screw  Torx key

IHSR 20-24 BW BHRMB16-16 200 24 16 275 80 16.0 | CCMT0602.. SR 14-548 T7/5
23.5-30 BW BHRMB20-20 235 30 20 325 95 19.5|CCMT0602.. SR 14-548 T7/5
29.5-40 BW BHRMB25-20 295 40 25 39.0 12.0 24.0 | CCMT0602.. SR 14-548 T7/5
39-52 BW BHRMB32-32 39 52 32 50.0 14.0 32.0 |CCMTO09T3.. TS 40097 T15/5
51-70 BW BHR MB40-40 51 70 40 635 175 420 |CCMT1204. SR 16-212 T20/5
69-92 BW BHRMB50-50 69 92 55 805 21.0 57.0 | CCMT1204.. SR 16-212 T20/5
91-122 BW BHRMB63-63 91 122 72 1005 25.0 76.0 | CCMT 1204.. SR 16-212 T20/5
121-162 BW BHRMB80-80 121 162 95 110.5 28.0 101.0| CCMT 1204.. SR 16-212 T20/5
161-802 BW BHRMB80-80 161 200 95 1105 28.0 122.0| CCMT 1204.. SR 16-212 T20/5
TCH200 202 302 198 56.5 28.0 122.0| CCMT 1204.. SR 16-212 T20/5

TCH300 302 402 298 56.5 28.0 122.0| CCMT 1204.. SR 16-212 T20/5

TCH400 402 502 398 615 28.0 122.0| CCMT 1204.. SR 16-212 T20/5

TCH500 502 602 494 615 28.0 122.0| CCMT 1204.. SR 16-212 T20/5

TCH600 602 702 594 61.5 28.0 122.0| CCMT 1204.. SR 16-212 T20/5

TCH700 702 802 694 61.5 28.0 122.0| CCMT 1204.. SR 16-212 T20/5

¢ D1= Size of the boring head being used
e dmin= (min bore diameter)= (dmax+D1+1)/2
H61-H64

() TaeguTec




BHC MB Combi Boring Heads

Combi rough and fine boring heads

' 10um
*Slide lock
Ide I0CK screw L
Ls -
f’? ©
x IHRF..C
L2808 E IHFF..C
Ss ge- d
ok
El— IHSR..C
.
TLS Y
L Dimension (mm) Insert
Designation 35 b dmax L Ls holder &
BHC MB25-25-57 MB25 28 36 56.5 0.5 H..C 0.20
MB32-32-71 MB32 36 46 71.0 0.5 H..C 0.35
MB40-40-90 MB40 46 60 90.0 1.0 H..C 0.70
MB50-50-87 MB50 60 75 87.0 1.0 H..C 1.50
MB63-63-109 MB63 78 100 109.0 2.0 H..C 2.70
MB80-80-130 MB80 95 120 130.0 2.0 H..C 4.80

* The roughing head precedes the finishing head by 0.2 mm. Each head can be adjusted independently.
@ ¢ The finishing insert holder can be radially adjusted within 5 microns.
e © Insert radius for combi rough and fine boring must be the same size.
* Loosen the *slide lock screw before making any slide adjustment.

> TaeguTec




IHRF-C/IHSR-C/IHFF-C Combi Boring Insert Holders

Insert holders for BHC combi boring heads

R Eml Al
U AN N

It I

Fig.1 Fig.2 Fig.3
- Dimension (mm) Spare parts )

D i dmin dmax f I Insert Insert screw Torx key Fig.
IHRF 28-36 C" 28 36 9.8 240 | CCGT 0602.. SR 14-548 T7/5 1
36-46 C 36 46 11.3 300 | CCGT0602.. SR 14-548 T7/5 1
46-60 C 46 60 138  40.0 | CCGT09T3... TS 40097 T15/5 1
60-75 C" 60 75 188 540 | CCGT09TS3... TS 40097 T15/5 1
75-95 C 75 95 243 680 | CCGTO09TS.. TS 40097 T15/5 1
95-120 ¢ 95 120 293  87.0 | CCGT09T3... TS 40097 T15/5 1
IHSR 28-36 C? 28 36 100 240 | CCMT0602.. SR 14-548 T7/5 2
36-46 C? 36 46 115 300 | CCMT 0602.. SR 14-548 T7/5 2
46-60 C? 46 60 140  40.0 | CCMT09TS3... TS 40097 T15/5 2
60-75 C? 60 75 19.0 540 | CCMTO09T3.. TS 40097 T15/5 2
75-95 C? 75 95 245 680 | CCMT09T3... TS 40097 T15/5 2
95-120 95 120 295 87.0 | CCMT09TS... TS 40097 T15/5 2
IHFF 28-36 C" 28 36 9.8 240 | TPGX0902... S0 250611 T8/5 3
36-46 ¢ 36 46 113 300 | TPGX0902... S0 25061! T8/5 3
46-60 C" 46 60 138  40.0 | TPGX 1103... S0 30081l T8/5 3
60-75 C" 60 75 188  54.0 | TPGX 1103... S0 30081l T8/5 3
75-95 G 75 95 243 680 | TPGX1103.. S0 30081I T8/5 3
95-120 ¢ 95 120 293  87.0 | TPGX 1103... S0 30081l T8/5 3

.  (WFor finishing, @ For roughing
H61-H64 H

a TaeguTec Ej



BHE MB Fine Boring Heads

10pm direct diametric adjustment and 2um with the vernier scale

10pm
L 2pm

HWEE|  IHFF IHRF IHRF CH IHRF BW ~Slide lock sorew < L1
1 Ls
L5y R
FEGAA 9 Emm s ] o
SS TR/ u . ' max o4 wF 5
L] fae L @l:.f
- IHAXF
o Dimension (mm)
L SS dmin dmax L L Ls d2 [}
BHE MB14-14-30 MB14 145 18 30.0 22.0 1.0 - 0.09
MB16-16-34 MB16 18 24 34.0 26.0 2.0 - 0.10
MB20-20-40 MB20 22 30 40.0 315 3.0 - 0.15
MB25-25-50 MB25 28 40 50.0 40.0 3.0 - 0.23
MB32-32-63 MB32 35 53 63.0 51.5 40 - 0.42
MB40-40-80 MB40 48 66 80.0 66.0 50 - 0.83
MB50-50-80 MB50 6.0 110 80.0 61.0 5.0 16.0 1.15
MB63-63-89 MB63 6.0 125 89.0 69.5 10.0 - 213
MB80-80-104 MBS0 6.0 200 104.0 85.0 12.0 - 3.83

H54,H59-H60

> TaeguTec




BHE MB-H Fine Boring Heads

Fine boring heads for high rotation speed

10pm
*Slide lock screw L 2um

|
SS -1 d2
f
IHAXF
- Dimension (mm)
] sS drin dmax do L ls  RPMmax [
BHE MB32-32-53H MB32 25 12 8 53 05 12,000 0.35
MB50-50-60H MB50 6.0 22 16 60 1.0 12,000 1.50

* Important: Loosen the *slide lock screw before making any slide adjustment.

() TaeguTec




10pm
2um

Fine Boring Range
Fine boring head range: 10uym direct diametric adjustment and 2uym with the vernier scale

BHE MB50-50x80

06-113.5

SEHL-180
M4 ¢08-95 4dHI

§'88-950

M8 ¢08-95 JdHI

S/Xy¢ HAHYG

63
.

~
6'88-950 SELL-180 0F LNN HE

< LL-LLO

98-250

-—

90+2L@ o5H=P
10+-G290 o08=P
o08=0 165890 oSY="
oSv=0

18-9°Lv0
9/-€v0
¢L-G'8E0

oG1=0

91/0€-2¢ dXVHI
0€-¢cco

(G

HO 0§ 44HI

91/22-81 AXVHI
| 2c-810

Y ousi-oL axvHI ﬁ@!

05 44HI

[EEL]]
S¢ 44HI

§/Xy¢ HIHG

| 81910
v 8
9H9L-¥L dXVHI 2

) | 91710

§01X91a Had

9L/pL-gL AXVHI 98-¢50 HH-Llo 0F LN HE
71210

OLEL-LL dXVHI

01080
erio 05 3uHI
91/21-01 AXVHI
ZI-010 05 33HI

91/01-9 dXVHI
01-80

91/8-9 4XVHI

§/Xyg HAHG

020000 woN
0109 i

B
053H8

011-080 Vh

H > TaeguTec



Fine Boring Range

Fine boring head range: 10pym direct diametric adjustment and 2um with the vernier scale

Ee
23
S«
91/08-22_AXVHI
Wl@%
91/22-81 AXVHI G2 JuHI
22810 2€ 43HI
C 91/81-9L AXVHI Sz 330
81-910
9L/9k-ph IXVHI 8 S0LXSLA HHE
m 9lvig ™~
9L/pL-gL AXVHI
o G v1-2lo
9 9L/EL-1L AXVHI
8, G SI-[10
6m 91/24-0k dXVHI
o & ch-0lo S JaHi
4m 91/04-8 AXVHI R
o oso _ ctddHl
9 0180 g R
o . 91/8-9 AXVHI B .
2 390 €5X91d Hag
08%82 HIHE
.
[ee]
““““““““““““ . | _h _ b
0£-90 W ﬁﬂ
onboan
01004
0sd &
€9 3HE
(=]
(=]
>x<
(5]
© Wu
8
n
Lw
=g
w w
F R

98

¢€ 4dHI

90

SL1-G2/0

M8 208-9G 4dHI

¢g 44HI

/XE9 HE

@

M8 208-95 J4HI

§'6¢1-G'980

08Xg8¢ HIHG

L21-€80

€L1-690

cch-8L@ oSh=0

80L-¥90 oSh=0

8LL-vL@ o08=0

¥01-090 o0€=0
e = %

001-9S@ oSy="0

w HO 05 3aHi

£21-9S0

0LL-¢LO

08 44HI

0S 44HI

sr =
ﬂ 1 Selelo
%
-
250|0
£93H8

Q,

VH-0LD  oSY=0
30 09 44HI

08xg8¢ H3IHd

§c1-980

08X8¢ HIHG

) TaeguTec H



Fine Boring Range

Fine boring head range: 10uym direct diametric adjustment and 2uym with the vernier scale

BHE MB80-80x104

06-202.5

10pm
2um

91/0€-¢¢ 4XVHI
0€-2c0

68

@ 91/gg-8L dXVHI

L so a

63

91/81-91 4XVHI

ﬂ 81-9l0

9L/9L-¥L JXVHI 0

ﬂ 9L-v1@

9Hvi-cl dXVHI

ﬂ vi-clo

9L/EL-LL dXVHI

§  erhio
91/21-0L_XVHI
T cH0io
91/01-8 AXVHI
N 01-80
. 91/8-9 AXVHI g
8-90

o
07 _.m., M

0200 "uoN

0100 4

059 O
08.3H8

L

-—
§'GE1-G'880
M8 208-9S 44HI

© G'¢02-5'880

EE1-580
821-080
V2+-9.0 06=0
S02I-52LD o5h=0
HO 0S J&HI

oG =P

g | T 0025228
28 44HI —
Y7820
EEL] 95-0v0
SCHEHI | — 2€1-880
3 2€ J9HI
G2 43HI € 4dHl 05 4dHI
to9ldHad (O
X
08X8z H3HE Emo Hag 05 33l
““““““““ L~ R R R
TGN < 0T &
8 [ oaosfon S 7

)
1g
ELERE

G'¢0c-9'G5 L@ 87 IX8¢ HIHEG

G'¢91-G'GLI@ 80IX8¢ HIHE
M4 208-9G J4HI

00¢-¢SL@ 8¥1X8c HIHG

S6L-LVI@ oSh=P

LBL-EVID ,08=P

L81-6ELD oS¥=0
091-¢L1@ 801X8¢ HIHG
SGI-20LD oSI=0
§'051-G¢c0Ld ,08=P
Ly1-66Q oSy=0

HO 0§ 44HI
2EMO
""H3HG

00¢-951@ 8¥1X8¢ HIHG

091-GL1@ 801X8¢ HIHG

7 J

o1 wj

02000 proN
0100 Li-
050 [0
08:3H8

WM 002880

E > TaeguTec



Fine Boring Range
BHF fine boring heads

These intricate boring heads enable fine radial
adjustments as small as 0.002mm whilst
accomplishing high precision machining to the
strictest of tolerances with a superb surface finish.

2um

BHF MB16-MB40
Diameter range: 18-63

BHF MB16-16x34 RV BHF MB20-20x40 RV BHF MB25-25x50

L 1 -

34 40

=i hJ 59 L= =8
1 = %;‘é:éjﬁ g%’g 20 mwjfgﬁ%ti @% 25 %i: g‘ ;

BHF MB16-16x34 BHF MB20-20x40 BHF MB25-25x50

22-2
IHRF 20

28-38
IHFF 25
IHRF25

BHF MB32-32x63 BHF MB40-40x80
| 36-50 | 48-63 0
63 —
T JI @
o
32 3 §§ 40 — @ E
8|tk © \E:

BHF MB32-32x63 BHF MB40-40x80

Fine boring head diameter range

0 10 20 30 40 50 60 70 80 90 100 110 120 130 150 180 280 400 600 700 800

BHF MB50-32x60 BL 2512 |
50-50x68 BL
50-50x60 | [ | IO N 2.5-84 |
50-63x87 5160
80-80x94 2.5-220
16-16x34 RV
20-20x40 RV
25-25x50
32-32x63
40-40x80
80-125x114 36-500

TCH 200 200-300
300 300-400
400 400-500
A.L 500 500-600
A.L 600
A.L700

) TaeguTec




BHF MB-BL Fine Boring Heads

Fine boring heads with balancing rings

2um
*Slide lock screw L dae
= Ijj'ﬁ_
W T
ss =k B & tdmim d
;Eé% L oA
Designation ss drin dmx Dlmensclizn o d L Ls [
BHF MB50-32x60 BL MB50 2.5 12.0 8 32 60.0 3 0.8
MB50-50x68 BL MB50 6.0 22.0 16 50 68.5 4 1.1

BHF MB16-MB50, Dia.6-108 Fine Boring Heads

BHF MB: Fine boring heads

L1 2 um

7l

*Slide lock screw

ss
L Dimension (mm) Insert .

DB SS  dun  dmax D1 L L1 L5 do | holder A ro

BHF MB16-16x34RV | MB16 18 23 16 260 34 1 - | Hi6 005 1
MB20-20x40RV | MB20 22 29 20 325 40 2 H.20 0.1 1
MB25-25x50 MB25 28 38 25 400 50 2 H.25 02 1
MB32-32x63 MB2 36 50 32 515 63 3 H.32 035 1
MB40-40x80 MB4O 48 63 40 660 80 4 - | H40 07 1
MB50-50x60 MB50 6 108 50 60 79 4 16 | H50 10 2

Spare Parts| [ Cuting Slide @ ¢ Important: Loosen the *slide lock screw before making any slide adjustment
e 5
H84-H9 1

1 y TaeguTec




BHF MB50-MB80, Dia. 77-500 Fine Boring Heads

Fine boring heads

2um
L1
*Slide lock screw |F-5 L
 — e f
5 |
D1 SS
1|
- Dimension (mm)
Designation ss drin dmax D1 L L Ls [
BHF MB50-63x87 MB50 77 125 63 49 87 5 1.8
MB50-80x94 MB50 95 160 80 58 94 5 2.1
MB63-63x87 MB63 77 125 63 49 87 5 1.6
MB80-80x94 MB80 95 160 80 58 94 5 2.6
MB80-125x114 MB80 135 500 125 63 114 5 5.8

e Important: Loosen the *slide lock screw before making any slide adjustment

() TaeguTec




Fine Boring Range
Fine boring heads with balancing rings

BHF MB50-32x60 BL 2um
Diameter range: 2.5-12 IHAXE 10-12/18
7‘@ 10-12
IHAXF 8-10/18
,7@ 8-10
IHAXF 6-8/18 @ Body
— 68 )
36 @ A Tool slide
- IHAXF 4-6/18 s o
oi| 7 46 Expanding pin
20 IHAXF 2.5-4/18 O Graduated dial
12% @ Slide locking screw
4 ® Coolant nozzle
o lbtS o @ Boring bar locking screws
® Balancing rings
60 0.002% o grng
(4]
Iie 1178 (8]
0— @
o
© g
@
3
o
50 =
@
BHF MB50-50x68 BL
Diameter range: 6-12
IHAXF 18-20/16
,7@ 18-20
IHAXF 16-18/16
——— 16-18
IHAXF 14-16/16
77@ 14-16
IHAXF 12-14/16
—7@ 12-14
63} IHAXF 10-12/16
ko 7@ 10-12
42 IHAXF 8-10/16 @ Body
g 810 :
] HAYE %816 A Tool slide
5 11 68 @ Expanding pin
o O Graduated dial
_0-0© @ Slide locking screw
o @ Coolant nozzle
{ @ Boring bar locking screws
685 o Loe
0.002 %—7é ) o ® Oiling nipple
e 0 ol o © Balancing rings
RN o)
0— 3
©
(3] § 0
& 0
]
=
w
I
o

> TaeguTec




Fine Boring Range

Fine boring head range: 2um direct diametric adjustment

2um

BHF MB50-50x60

Diameter range: 6-111

91/0€-2¢ 4XVHI

-« 2o =ATT

0€-c20

&k

= 91/2z-8lL 4XVHI

=

cc8lo

91/81-91 4XVHI
81-910

| A

68
63
60

42

—

A

b

9L/9L-¥1 AXVHI
9l-v10

9L/vL-2t XVHI
vi-clo
9L/EL-1 1 IXVHI
EL-LD
91/21-01 4XVHI
cl-0l0

91/01-8 AXVHI

5

<

01-80
91/8-9 AXVHI

A Al

8-90

= e
o TS
e ot

¥8-¥S0

-—
S§'6L-G'LYD Sh=D
-
Sv.L-€vQ .06= P
-

§'1L-6EQ oGv= P

OH 0S J4HI

«~—

850

@ 05 44HI
- 08 44H1

]
e

1F
H
) |

M4 208-95 J4HI

LLE-180

S/Xv¢ HaHEG

0L LNN HE

601-2L0

¥01-2L@ oSk=D

66-G'£L90@ .0€= D

§6-G'€90@ oSv= D

HO 0§ 44HI

S/Xy¢ HIHG

0G 44HI
05 44HI

G/X¥¢ HIHE

—)

0L LNN Hg

H
'.-i.rl TaeguTec



Fine Boring Range
Fine boring head range: 2um direct diametric adjustment

BHF MB50-63x87 2um
B!'IF MB63-63x87 ‘ 385
Diameter range: 2.5-160 ‘ :
" ! o83
BHFH30x93 Sl
‘ L_M&S ST
i ®
- d9 il
r )
— s
63 _|
_T_A_‘ r |
BHF MB50-63x87 ‘ ]
! ' BBH30x40 BBH30x70 BBH 30x115
\ 68
' 24 63
‘ ‘ 60
‘ ‘ 50
‘ ‘ 42
! ! 40
00 9‘ ‘ 3
! 28 ‘
49 i j 21
~ [ 7>3 © © © © © © ©
— %gﬁ‘; ° c 2 R B IE BB R B
63 ! s @ 2 e [ R |2 e & [
(5] D«@ é W u.Nl.':mﬂ_.*E OCwENE olL
v o - - - - - & 1)
il M@‘ | g3 55 23 3 SF 3F oF 2 43
BHF MB63-63x87 ‘ ‘ ‘
(5] 00 ‘ —T T) Dia range L L
| 46 20 24
‘ D  HAXF46B
| 254 2 2
IHAXF 2.5-4/8
SLEEVE D8-D16
@ Body
@ Tool slide
© Graduated dial
® Toolholder locking screw
@ Expanding pin
@® Slide locking screw
@ Coolant nozzle
® OQiling nipple
© Toolholder locking screw

> TaeguTec




Fine Boring Range
Fine boring head range: 2um direct diametric adjustment

BHF MB50-80x94 2um
BHF MB80-80x94
Diameter range: 2.5-220

558 — BHFH 30x93
L T e 125
—~—~— 20 7 80
i ( 7,
80 I — _Lﬂ‘—sp—”@
ri ] S 948
| ( 7] | Jes gkr—<a
Sl 9L
BHF MB50-80x94 ‘ M QLT
i BBH30x40 BBH30x70 BBH30x115
00 6‘ X
55.5 ‘ ‘ &
Ty | 63
[ ‘ 60
T—"T o — ! o 50
(
80 @— =
[= @ ‘ 40 )
Vﬁ || @ 35
| l ! 28
| (6] ‘ 21
BHF MB80-80x94 J@
! e
0‘ b o |© |2 |e e | |e |e
- e Bzl EfREB
i Qo B2 2 2 F |2 F @2
T w w w w w w w w w
\ € % % ok ok 2k ok 0%y
| 8% 52 ofF =F ofF 3F oF JE 43
L1
- L)
_J@q Dia range L L1
B 1] T b
ﬁﬂ_ 4-6 20 24
D IHAXF 4-6/8
SLEEVE D8-D16 :
@ Body
@ Tool slide

@ Graduated dial

® Toolholder locking screw
@ Expanding pin

@ Slide locking screw

@ Coolant nozzle

©® OQiling nipple

© Toolholder locking screw

) TaeguTec




Fine Boring Range
Fine boring head range: 2um direct diametric adjustment

BHF MB80-125x114

- 2um
Diameter range:36-500
| 51
! mm BHFH 40x400
! ' “ BHFH 40x300 olgg
| gkt
M| ==
i mﬁ BHFH 40x200
| ' gEs
233
: it =]
! BHFH 40x133
200 |
125
<¢H
5 5 B "
5y
S [7T5 e

36-123
IHFF 32
IHRF 32

BBH 40x189

BBH 40x114
BBH 40x69

@ Body

@ Tool slide

@ Graduated dial

O Toolholder locking screw
@ Expanding pin

@® Slide locking screw

@ Coolant nozzle

® OQiling nipple

l?,‘ TaeguTec




IHAXF Fine Boring Bar

8mm boring bar for 2.5-12mm fine boring heads

L L3 L2 L3
L1 L1
dgsziiiii /’ [ dgsI — - — &9
e POm . Dm
>
Fig.1 Fig.2
- Dimension (mm) Spare parts )
D i Dmin  Dmax L1 L3 L2 d Insert Screw Key Fig.
IHAXF 2.5-4/8" 25 4 125 21 22 8 Solid - - 1
4-6/8" 4 6 200 24 24 8 Solid - - 1
6-8/8 6 8 21.0 21 16 8 WCGT 0201 SR 14-299 T-6/5 2
8-10/8 8 10 - 28 16 8 WCGT 0201 SR 14-299 T-6/5 2
10-12/8 10 12 - 36 16 8 TPGX 0902 SR 14-299 T-6/5 2

« (" Brazed tool

IHAXF Fine Boring Bar

16mm bars for 6-30mm fine boring heads

L2

D min
3 max
- Dimension (mm) Spare parts

BEE G Dmin Dmax L1 L3 L2 d Insert Screw Key
IHAXF 6-8/16 6 8 21.0 29 22 16 WCGT 0201 SR 14-299 T-6/5
8-10/16 8 10 280 36 22 16 WCGT 0201 SR 14-299 T-6/5
10-12/16 10 12 350 43 22 16 TPGX 0902 SO 250611 T-8/5
11-13/16 1 13 400 48 22 16 TPGX 0902 S0 250611 T-8/5
12-14/16 12 14 420 48 22 16 TPGX 0902 S0 250611 T-8/5
14-16/16 14 16 500 52 22 16 TPGX 0902 SO 250611 T-8/5
16-18/16 16 18 500 58 22 16 TPGX 0902 SO 250611 T-8/5
18-22/16 18 22 600 63 22 16 TPGX 0902 SO 250611 T-8/5
22-30/16 22 30 600 68 22 16 TPGX 0902 SO 250611 T-8/5

Cutting
Condition
¢
H61-H64 H84-H91

) TaeguTec




SLEEVE

Reducers for fine boring heads

Fine Boring Bar

L

dI¢
%

Dahg

L Dimension (mm)
Designation d Da L
SLEEVE D8-D16 16 8 23

BBH D16

Extension for BHF 50x50x63

Fine Boring Bar

dgé

L2

Designation

D1
BBH D16x53

L2 @

25

21.5 0.3

> TaeguTec



IHAXF-AVI Fine Boring Bar

Vibration dampening for fine boring bars — Heavy metal shank

22 L1
ng Dmg":
30
- Dimension (mm) Spare parts
D i Dmin Drmax L1 d Insert Screw Key
IHAXF 6-9-AVI 6 9 36 16 WCGT 0201.. SR 14-299 T-6/5
8-10-AVI 8 10 48 16 WCGT 0201.. SR 14-299 T-6/5
10-12-AvVI 10 12 60 16 TPGX 0902.. SO 250611 T-8/5
12-14-AVI 12 14 72 16 TPGX 0902.. SO 250611 T-8/5
14-16-AvVI 14 16 84 16 TPGX 0902.. SO 250611 T-8/5
16-18-AvVI 16 18 96 16 TPGX 0902.. SO 250611 T-8/5

* Note: Not recommended to be used on balanceable BHF-BL fine boring head

IHAXF-E Fine Boring Bar

Vibration dampening for fine boring bars — Carbide shank

22 L1

ng

Designation Dimension (mm) Spare parts
Dmin Dmax L1 d Insert Screw Key
IHAXF 6-8-E 6 8 45 16 WCGT 0201.. SR 14-299 T-6/5
8-10-E 8 10 60 16 WCGT 0201.. SR 14-299 T-6/5
10-12-E 10 12 75 16 TPGX 0902.. S0 250611 T-8/5
12-14-E 12 14 90 16 TPGX 0902.. SO 250611 T-8/5
14-16-E 14 16 105 16 TPGX 0902.. SO 250611 T-8/5
16-18-E 16 18 120 16 TPGX 0902.. S0 250611 T-8/5

. Cuting * Note: Not recommended to be used on balanceable BHF-BL fine boring head
ondition
H61-H64

2
H84-Ho1

) TaeguTec




IHFF/IHRF

Insert holders for mounting on the MB fine boring heads

Fine Boring Insert Holders

< I >

91°

. |

90°

It
(PR | B

Fig.1 Fig.2
- Dimension (mm) Spare parts )
D i dmin dmax f I Insert Insert screw Torx key Fig.
IHFF 25 28 40 10.0 26.5 TPGX 0902... S0 250611 T8/5 1
32 35 53 1.5 345 TPGX 0902... SO 250611 T8/5 1
40 48 66 14.0 44.0 TPGX 1103... SO 300811 T8/5 1
50 54 86 19.0 52.0 TPGX 1103... SO 30081I T8/5 1
IHRF 16 18 24 8.0 17 CCGT 0602.. SR 14-548 T-7/5 2
20 22 30 8.5 21.0 CCGT 0602.. SR 14-548 T-7/5 2
25 28 40 10.0 26.5 CCGT 0602.. SR 14-548 T-7/5 2
32 35 53 1.5 345 CCGT 0602.. TS 400971 T-7/5 2
40 48 66 14.0 440 | CCGTO09TS... TS 40097! T-15/5 2
50 54 86 19.0 52.0 | CCGT 09T3... TS 40097! T-15/5 2

IHWF

Insert holders for mounting on the MB fine boring heads

Fine Boring Insert Holders

L al

Desianation Dimension (mm) Spare parts
9 dmin dmax f 11 Insert Insert screw Torx key
IHWF 14E 145 18 8.0 14.0 WCGT 0201... SR 14-299 T6/5

H61-H64

> TaeguTec




Slide extensions for fine boring holders

Fine Boring Insert Holders & Slides

D2 D2 b
—
—~ |
L L
L L1
\ e
D1 D1
Fig.1 Fig.2
Designation e oilk ) @ Fi
9 D1 L1 L D2 b G-
BBH 30x40 25 40 52,5 43 30.5 0.3 1
30x70 25 70 82.5 43 30.5 0.4 1
30x115 27 115 127.5 43 30.5 0.7 1
40x69 32 69 86 56 40 0.7 1
40x114 32 114 131 56 40 1.0 1
40x189 38 189 206 56 40 2.0 1
63x78 32 66 78 63 28 0.7 2
ADBH Fine Boring Insert Holders & Slides
Sleeve for fine boring holders
b
D2
_
i ) | P
@ L | @ I
> : :
I51 d2

Dimension (mm)

Designation D1

L d2

ADBH 30xD16 30

25 30.5 16

) TaeguTec




BHFH/BHEH Fine Boring Insert Holders & Slides
Slide for BHF & BHE fine boring holders

b ‘<ﬂ>
T
R ; o
i | | =4l 2
15 W
Hi
(OHO)
Fig.1 Fig.2
Designation iSOt ) & Fi
9 H L de b G-
BHFH 30x75 25 75 : 305 04 1
30x93 25 93 - 305 05 1
30x135 25 135 - 30.5 0.7 1
40x133 40 133 : 40 1.5 1
40x200 40 200 - 40 24 1
40x300 40 300 - 40 35 1
40x400 40 400 : 40 46 1
BHEH 24x75 14.5 75 - 24 0.2 2
28x80 225 80 16 28 0.3 2
28x108 225 108 : 28 05 2
28x148 225 148 : 28 06 2
CW32 Fine Boring Insert Holders & Slides
Counter balancing weight
L2 17
7‘/] \‘
N v 4 8
Designation Dlmens:fm (mm)
cw 32 31.5 0.5

> TaeguTec




TCH

Fine boring aluminum body range: 200-500mm with MB connection

Fine Boring Heads

TCH fine foring-Insert holders

42LH dmin
max
SMH MB 80-404
- Dimension (mm)
Designation o e D1 ﬁ
TCH 200 200 300 198 2.6
300 300 400 298 35
400 400 500 398 41

TCHA.L

Fine boring aluminum body range: 500-800mm with MB connection

Fine Boring Heads

1565
315, 59

2 %RFEO

HFF50

TCH A.L - Fine boring holders IH...

BHF L200
IHSR BW
MB| Q
i lflllig 197 e 6on7 dms
Typx"‘l 97 SMH MB 80-604 )
£l oweoo

N Dimension (mm)
Designation dom . D1 ﬁ
TCHA.L 500 500 600 494 75
600 600 700 594 9.0
700 700 800 694 10.5

Spare Parts

H71-H83 H32

) TaeguTec




BHF L200 Fine Boring Heads & Tool Holders
(200-800) Fine boring slide heads for TCH

*Slide lock screw

BT [T ] e

g
L L
::[ IHFF50  (IHRF50 IHSR BW
Serrated surface B
S dmin dmax Dimenstm o F1 f
BHF L200 200 800 110 67 5 1.3
CW200 Fine Boring Heads & Tool Holders

Counter balancing weight for TCH

30x56.5
- Dimension (mm)
Designation L &
Cw 200 105 1.3

% ¢ Important: Loosen the *slide lock screw before making any slide adjustment.

H54

> TaeguTec




IHRF-BW Fine Boring Heads & Tool Holders
Back face for BHF and TCH fine boring holders

dmin

dmax

Dimension (mm) Spare parts

D i dmn dmax D1 H f I ERITIICELE Insert  Clamping screw Torx key
IHRF 20-25 BW 20 25 16 275 8.0 18.0 |BHF MB16-16x34 CCGT 0602.. SR 14-548  T7/5
24.5-32 BW 245 32 20 335 85 22.5 |BHF MB20-20x40 CCGT 0602.. SR 14-548  T7/5

31.5-41.5 BW 315 415 25 415 95 28.5 |BHF MB25-25x50 CCGT0602. SR14-548 T7/5
38.5-51.5 BW 385 515 32 53.0 11.0 35.5 |BHF MB32-32x63 CCGT 0602.. SR14-548  T7/5
50.5-65 BW 505 65 40 68.0 13.5 46.0 |BHF40-40 CCGT09T3.. TS 400971 T15/5
56-802 BW 56 86 50 620 17.5 53.0 |BHF50-50 CCGT09T3.. TS 400971  T15/5
82 120 75 70.2 17.5 53.0 [BHF63+BHFH30x75 |CCGT09T3.. TS 400971 T15/5
100 142 93 795 17.5 53.0 |BHF80+BHFH30x93 |CCGT 09T3.. TS 400971  T15/5
140 240 135 98.0 17.5 53.0 |BHF125+BHFH40x133 |CCGT 09T3.. TS 400971  T15/5
202 302 198 103.0 17.5 53.0 |[TCH200+BHF L200 CCGT 09T3.. TS 400971  T15/5
302 402 298 103.0 17.5 53.0 [TCH300+BHF L200 CCGT09T3.. TS 400971  T15/5
402 502 398 103.0 17.5 53.0 [TCH400+BHF L200 CCGT09T3.. TS 400971 Ti5/5
502 602 494 108.0 17.5 53.0 |[TCH500+BHF L200 CCGT 09T3.. TS 400971 T15/5
602 702 594 108.0 17.5 53.0 [TCH600+BHF L200 CCGT09T3.. TS 400971  T15/5
702 802 694 108.0 17.5 53.0 [TCH700+BHF L200 CCGT09T3.. TS 400971 Ti5/5

2
H84-Ho1

Cutting |  D1= Size of the boring head being used.
U4 C" « G (i1 bore diamatene (drarsDre1)i2

() TaeguTec




IHRF-CH Fine Boring Heads & Tool Holders
Chamfering tools for BHF-boring heads

L3
I1

Designation Dimension (mm) Spare parts
9 dmin  dmax  @° L3 I f | Insert Clamping screw  Torx key
IHRF 25 CH15 28-38 28 38 15° 280 296 13.0 1.6 |CCGTO0602.. SR 14-548 T7/5
32 CH15 35-53 35 53 15° 331 347 130 1.6 |CCGT0602.. SR 14-548 T7/5
40 CH15 48-66 48 66 15° 449 474 175 25 |CCGTO09T3.. TS 40097 T15/5
50 CH15 54-800 54 800 15° 529 554 175 25 |CCGT09T3.. TS 40097| T15/5
25 CH30 28-38 28 38 30° 254 296 11.0 3.2 |CCGT0602.. SR 14-548 T7/5
32 CH30 35-53 35 53 30° 315 347 11.0 3.2 |CCGTO0602.. SR 14-548 T7/5
40 CH30 48-66 48 66 30° 426 474 154 48 |CCGTO09T3.. TS 40097 T15/5
50 CH30 54-800 54 800 30° 506 554 154 48 |CCGTO09T3.. TS 40097I T15/5
25 CH45 28-38 28 38 45° 251 296 115 45 |CCGT0602.. SR 14-548 T7/5
32 CH45 36-50 36 50 45° 302 347 115 45 |CCGTO0602.. SR 14-548 T7/5
40 CH45 48-66 48 66  45° 406 474 160 6.8 |CCGTO09T3.. TS 40097l T15/5
50 CH45 54-800 54 800 45° 486 554 160 6.8 |CCGTO09T3.. TS 40097I T15/5

H61-H64

> TaeguTec




CCMT/CCGT Boring Inserts

Positive 7° clearance 80° rhombic inserts

Size - Dimension (mm)
t r
06 6.35 238 0.1-0.8
09 9.52 3.97 0.1-0.8
12 12.7 4.76 0.2-1.2
Cermet CVD coated PVD coated | Uncoated
Insert Designation s 8 S22Rr88382888888¢88
SClEEERRREEERERERERElRES
a GIEEEEEFEEEEEEEEEEERE S
CCMT 060204 MT e o o O o o e o o e o °
1‘- 060208 MT e e ¢ O o o o ° ° °
\/ 097304 MT e o/ o O o o e o o o o
097308 MT e/ e ¢ O o o o o o e o
120404 MT el o O o o ° °
120408 MT el © O o o o e o o o o
120412 MT ° o o
= CCGT 060201 SA ° °
@ 060202 SA N D
060204 SA ° °
097301 SA ° °
097302 SA ° °
097304 SA ° °
o 'h.\‘ CCGT 060202 FL °
\f‘\/ 060204 FL .
’ 097302 FL °
097304 FL °
097308 FL °
120402 FL °
120404 FL °
120408 FL °

o : Standard items
O: Semi standard items

() TaeguTec




DCMT Boring Inserts

Positive 7° clearance 55° rhombic inserts

Size Dimension (mm)
550 d t r
07 6.35 2.38 0.4-0.8
1 9.52 3.97 0.4-1.2
O
\
70
AN 14
Cermet CVD coated PVD coated Uncoated
© Ol 1V O 1n W W 1B W W O Ol o © o
Insert Designation S 88 s = Y90 g 88228348 983
% saneto B3lEEREmr 8RB 88 8 gesg
F FFEFFEFFEFFEFEFEREEFEEES =S
o Ol Wk FFFFFFEFFEFEFEFEFRL XX
. DCMT 070204 PC ° °o o ° °
- 070208 PC . . .
117304 PC ° o o ° °
117308 PC o o ° °
117312 PC

o : Standard items

SCGT Boring Inserts

Positive 7° clearance inserts for aluminum machining

’ Dimension (mm)
Size
o /.‘ d t r
90° 7 09 9.52 3.97 0.8
/ \ 12 12.7 4.76 0.2-0.8
AR
-\
70 N /
t r
Cermet CVD coated PVD coated Uncoated
q q © 9O W O 1 W W W W W o Ol © © o
Insert Designation SRR B R TR ER R
D M~ N N ©© © 0 O O O 1 MO 0 & OO0 O O
> HElF F F FEFEFEEFEEFEEFIEEEES = A
o Olbk Wk HFFEFFEFRFEFRFEFRFEREFERLXX
SCGT 097308 FL °
‘I‘; 120402 FL o
v 120404 FL .
120408 FL °

o : Standard items

> TaeguTec




SCMT Boring Inserts

Positive 7° clearance square inserts

9% Size - Dimensiton (mm) r
T~ 09 9.52 3.97 04-0.8
, " 12 12.7 476 04-1.2
an
\LJ
Y70 N /
)
t r
Cermet CVD coated PVD coated Uncoated
n . © 9O|Ww W O 1 WV WV O W W O O 0 O O O
Insert Designation S58Scmr =25y gceg88 8
SCECERRRE2EREERE2EIRSS
e olFEEFFEEEEFEEEEER S
a--'-; SCMT 097304 FG °
w 097308 FG . [ ° o o
,%\ SCMT 097304 MT ° e O o o ° ° °
"\J/- 097308 MT oo O e e e o o e o
120404 MT ° o o °
120408 MT ° e O o o e o o o o
120412 MT

o : Standard items

TCMT Boring Inserts

Positive 7° clearance triangular inserts

60° Size Dimension (mm)
\*7 d t r
22 12.7 4.76 0.8
7\
o AN
t J d
Cermet CVD coated PVD coated Uncoated
X . © 9Ol VWL O 1 W W W W W o Ol 0 © © O
Insert Designation S 8lScmc-cf82ayyNggees3yy s
D MK N N 0 © 0 O O O 1 N~ 0 & OO0 O o
> ElF EF EFE FEEEFEEFEFEFEIEEEEI® =
o O|/Fk W FFFFFFFFFFFEFRFRFRLDXX
TCMT 220508-19 °
L —_}

o : Standard items

) TaeguTec




TPGX Boring Inserts

Positive 11° clearance triangular inserts

600 N "
v Size ; Dlmen5|ton (mm)
r
09 5.56 2.38 0.2-0.4
1 6.35 3.18 0.2-0.4
11°
t
Cermet CVD coated PVD coated Uncoated
q . © 9Ol 1 O 1 W W W W W O Ol © O
Insert Designation SECH G H A HE BLHE - HE
~ O 00 O O O O w N O &0 O O o
s GIEFEFEPEFEFEEEE|IREE S
TPGX 090202 L °
& 090204 L o S
110302 L °
Left-hand 110304 L ° 5

o : Standard items

WCGT Boring Inserts

Positive 7° clearance 80° trigon inserts

) Dimension (mm)
Size d t p
02 3.97 1.59 0.2-04
Cermet CVD coated PVD coated Uncoated
. q © 9w W O 1n W WV W W WV O O © 9O O
Insert Designation S 88 mEroY 2838822388388
a olEFFEEEFEEEEFEEEEE&®ECE
) WCGT 020102L °
@ 020104L °

o : Standard items

> TaeguTec




KIT BHE MB50-50x80

Boring kit BHE MB50-50 (¢6-110mm) with fine boring head

0630 054-86 @80-110 09-110
& ite, ks "
é =i = =
‘_I Bl 11 Dbt 63| HFFs0 12 I, Ja ‘
% nrroy | BHEH24¢7% T cwap
'HAXFGB”G 6065 o 05486 IHFF 50 BHEH 24x75
|-IAXF810/16 o6 er o 080-110 IHFF50’Z}92_110
HAXF311 1316 T, 03656
iéIAXF16-18/16 > IHFF 32
1 BHE MB50-50x80 1 IHAXF 16-18/16
AXF 223016 1 IHFF 25 1 IHAXF 22-30/16
1 IHFF 32 1 BBH D16x53
1 IHFF 50 1 BHEH 24x75
1 IHAXF 6-8/16 1 BHNUT 10
1 IHAXF 8-10/16 1CW 32
1 IHAXF 11-13/16
Desianation Dimension (mm)
9 MB d1 Boring range
KIT BHE MB50-50x80 50 6-110

* 10pm direct diametric adjustment and 2um by a vernier scale

KIT BHE MB63-63x89

Boring kit BHE MB63-63 (96-125mm) with fine boring head

04090 083132 0115200
S ® ind 55
! 90|98
CW3
81016 BHH 63x78 SFTP50
PP R (115-160 BHEH 26¢108
M—>|HL\X1F TR f— IHFF32 (01155200 BHEH 28x148 1 BHE MB63-63x89 1 IHAXF 16-18/16
sy ,  HFR 1 IHFF 32 1 IHAXF 22-30/16
IHAXF 22-30716 1 IHFF 50 1 BBH 63x78
1 IHFF 6-8/16 1 BHEH 28x80
1 IHAXF 8-10/16 1 BH WASHER IH..50
1 [HAXF 11-13/16 1 CW 32
Designation Dimension (mm)
MB d1 Boring range
KIT BHE MB63-63x89 63 6-125

l' TaeguTec




KIT BHE MB80-80x104

Boring kit BHE MB80-80 (¢6-200mm) with fine boring head

0630 040-90 088-132 0115200
2 ‘ 90
06+ EJ
Porsas— B
2810 80
IHAXF 81016 68 BHH63x78
01113 ‘ 040-56
HAXF 11-13/16 R IHFF 32
o o, : 1 BHE MB30-80x104 1 IHAXF 22:30/16
00230 " X
[HAXF 22-30/16 1 IHFF 50 1 BHEH 28x80
1 IHFF 6-8/16 1 BHEH 28x108
1 IHAXF 8-10/16 1 BHEH 28x148
1 IHAXF 11-13/16 1 BH WASHER IH..50
1 IHAXF 16-18/16 1 CW 32
Desianation Dimension (mm)
9 MB d1 Boring range
KIT BHE MB80-80x104 80 6-200

KIT BHE MB32-32x53 H

Boring kit BHE MB32-32x53 H (¢2.5-12mm) with fine boring head

G25 ||
12,000 RPM
3
g 8 8 B3
« 53 o é ﬁ ® % E g S s
3 3= 32 SfoE  HE T
s o °F = ol S;E o3
P — ]
>y !12.5 165 | &1
20 12
21 2
28
Boring tools: Inserts:
| % 5 1 BHF MB32-32X53 H 5 TPGX 090202L
1 IHAXF 2.5-4/8 2 WCGT 020102L
1 IHAXF 4-6/8
1 IHAXF 6-8/8
1 IHAXF 8-10/8
1 IHAXF 10-12/8
Bt Dimension (mm)
MB d1 Boring range
KIT BHE MB32-32X53 H 32 2.5-12

) TaeguTec



KIT BHE MB50-50x60 H Kits

Boring kit BHE MB50-50x60 H (¢6-22mm) with fine boring head e T 10pm
12,000 RPM @
e £ £ £ £ e o
25 2E 32 5% 5F g% & m
gl =B
595969 EX=y
28

< > Boring tools: In:

serts:
% 1 BHE MB50-50X60 H 5 TPGX 090202L
1 IHAXF 6-8/16 2 WCGT 0201021
© © 1 IHAXF 8-10/16
‘ 1 IHAXF 10-12/16
1 IHAXF 12-14/16
1 IHAXF 14-16/16
1 IHAXF 16-18/16
1 IHAXF 18-22/16

ﬁoa

Dimension (mm)
MB d1 Boring range
KIT BHE MB50-50x60 H 50 6-22

Designation

¢ 10um direct diametric adjustment and 2um by a vernier scale

KIT BHF MB50-80/80-80 Kits

Kit BHF MB50-80 / Kit BHF MB80-80 6-220mm diameter range

630
|
ADBH30DT6 ;Afsé i
3 g A
AP T & &
IHAXF 812 B
A7 = 1 BHF MB..-80x94 1 BHFH 30x93
WETT o 8 e 11HAXF 6-8/16 1BHFH 30x135
e g 1IHAXF 8-10/16 11HFF 25
e @ 2886 1 IHAXF 11-13/16 1 IHFF 32
X230 i 1 IHAXF 16-18/16 1 IHFF 50
3506 1 IHAXF 22-30/16 5 TPGX 090202L
IHFF 32 1 ADBH 30xD16 1 TPGX 110302L
IHRF 32 1 BBH 30x40 2 WCGT 020102L
1 BBH 30x70 T-8/5
1 BBH 30x115 T-6/5
Designation Dimension (mm)
9 MB d1 Boring range
KIT BHF MB50-80 50 6-220
MB80-80 80 6-220

) TaeguTec [i7



KIT BHF MB 50-32 BL Kits

Boring kit 2.5-12mm diameter range with BHF fine boring balanceable head — 5
20,000 RPM @ 2pm
1
55 52 ¢ YEa2
.
=it |
1 BHF MB50-32X60 BL
1 IHAXF 2.5-4/8
1 IHAXF 4-6/8
1 IHAXF 6-8/8
1 IHAXF 8-10/8
% 60 1 IHAXF 10-12/8
‘ 5 TPGX 090202L
2 WCGT 020102L
e Dimension (mm)
9 MB d1 Boring range
KIT BHF MB50-32 BL 50 2.5-12

KIT BHF MB50-50 BL Kits

Boring Kit 6-20mm diameter range with BHF BL fine boring balanceable head

ct EEEEEDR
pry < U - S b |
© - el - = L o3
ol =% o =it ol 2% F
8% 2 < 25 a2 52 .,
159+ 5= B 45 7o) ’
5= 150 i
2 i<
28 ! 0002 1 BHF MB50-50X68 BL 1 IHAXF 14-16/16
35 1 IHAXF 6-8/16 1 IHAXF 16-18/16
2 1 IHAXF 8-10/16 1 IHAXF 18-22/16
50 1 IHAXF 10-12/16 5 TPGX 090202L
60 1 IHAXF 12-14/16 2 WCGT 020102L
63 8 685
Designation Dimension (mm)
MB d1 Boring range
KIT BHF MB50-50 BL 50 6-20

¢ 10um direct diametric adjustment and 2um by a vernier scale

) TaeguTec




KIT BHF MB50-50 6-108 Kits
6-108mm diameter range
2um
. e
% i L
T -
o€ e~ © |0 I
Cefeipacds E I !
[SINRSIEIShats hid 5484 = .
EEEER Bl s,
= T = g £
pry =T
q & =]
80108
- 1 BHF MB50-50x60 1 BBH D 16x53
8 g8 1 IHFF 25 1 BHEH 24x75
I T : 1 IHFF 32 1 BHNUT 10
g 2=k, fF'jI 11HFF 50 1CW 32
g =1 M — 1 IHAXF 6-8/16 5 TPGX 0902021
= 9108 1 IHAXF 8-10/16 1 TPGX 110302L
% 1 IHAXF 11-13/16 2 WCGT 020102L
1 IHAXF 16-18/16
1 IHAXF 22-30/16
D Dimension (mm)
9 MB d1 Boring range
KIT BHF MB50-50 6-108 50 6-108
KIT BHF MB50-63/MB63-63 Kits
6-125mm diameter range
2um
02880 77125
)] |
I Il
@
) 5
g g i 385
JIRIE =
T
69 o Faa. F s
4 %@ %
812 : 8 @| 1 BHF MB...-63x87 1 BHFH 30x75
HAE 812 ® | 3 1 IHAXF 6-8/16 1 IHFF 25
IE TN p— 2870 1 IHAXF 8-10/16 1 IHFF 32
IHAXF 1117 Ilngggg 1 IHAXF 11-13/16 1 IHFF 50
©28 3680 1 IHAXF 16-18/16 5 TPGX 090202L
HAXF 1623 [HFF32 1 IHAXF 22-30/16 1 TPGX 110302L
a0 —_— IHRF 32 1 ADBH 30xD16 2 WCGT 020102L
FAXE 220 1 BBH 30x40 T-8/5
1 BBH 30x70 T-6/5
Desianation Dimension (mm)
esign MB d1 Boring range
KIT BHF MB50-63 50 6-125
MB63-63 63 6-125

) TaeguTec




KIT BHFH MB80-125

Kit BHFH MB80-125 holder for BHF MB80-125x114,36-410mm diameter range

Kits

135-500

I

=

2um

135210
8 IHFF 50
g
= 1 BBH 40x69 1 IHFF 25
1 BBH 40x114 1 IHFF 40
lﬁ"%gg 1 BBH 40x189 1 IHFF 50
305410 1 BHFH 40x133
IHFF 50 1 BHFH 40x200
1 BHFH 40x300
et Dimension (mm)
9 MB d1 Boring range
KIT BHFH MB80-125 50 36-410

¢ 10pm direct diametric adjustment and 2um by a vernier scale

KIT IHAXF 6-30

Kit IHAXF 6-30,6-30mm diameter range

Kits

1 IHAXF 6-8/16

1 IHAXF 8-10/16
1 IHAXF 11-13/16
1 IHAXF 16-18/16
1 IHAXF 22-30/16
5 TPGX 090202L
3 WCGT 020102L
T-8/5

T-6/5

2um

Designation

Dimension (mm)

Boring range

KIT IHAXF 6-30

6-30

0] (3> TaeguTec




MB CLAMP Spare Parts

MB system clamp set

di|d2
- Dimension (mm)
Designation @ @ ] 2
MB CLAMP 16 16 10 25 -
20 20 13 3 -
25 25 16 & -
32 32 20 4 ORM 0100-10
40 40 25 5 ORM 0130-10
50 50 32 6 ORM 0140-10
63-80 63-80 42 8 OR 2075
PLT Spare Parts
Cover plate
] O
e— d
H1I @
Gi1
- Dimension (mm)
Designation d o L G
PLT 16 16 7 14 M 3x8
20 20 8.5 17 M 4x10
25 25 10.2 21 M 4x16
32 32 13.9 28 M 5x20
40 40 17.4 35 M 6x25
50 50 214 47.5 M 8x25
63 63 26.4 62 M 10x30
80 80 33.9 82.5 M 12x35

e Protects the serrated faces when a single toolholder is being used.

) TaeguTec




BHF

Spare Parts

—

4

IHRF CH IHRF BW

Designation 1 2 3 4 5)

BHF...- 16... - SR M3x6 DIN 912 - BH SR 1.5 HANDLE SR M3x4.5 DIN 913
20... - SR M4x8 DIN 912 - BH SR 1.5 HANDLE SR M3x4.5 DIN 913
25... - SR M5x10 DIN 912 - BH SR 2.0 HANDLE SR M4x4 DIN 913
32... - SR M6x12 DIN 912 - BH SR 2.0 HANDLE SR M4x5 DIN 913
40... - SR M8x14 DIN 912 - BH SR 2.5 HANDLE SR M5x6 DIN 913 SR
50-60 BHNUT 10 SR M10x25 DIN 912 SR M10x16 DIN 913 BH SR 2.5 HANDLE SR M5x8 DIN 913

BHF

Spare Parts

E ey

Designation

3

BHF...- 50...

SR M5x10 DIN 912 SR M10x20 DIN 912 SR M10x25 DIN 912

72 [?,‘ TaeguTec




BHF

Spare Parts

BHF IHFF

IHRF CH IHRF BW

L

By
FS

T
A

Designation 1 2 3

BHF...- 63... SR M6x10 DIN 915 SR M10x25 DIN 912 BH SR 3.0 HANDLE
80... SR M6x14 DIN 915 SR M10x25 DIN 912 BH SR 3.0 HANDLE
125... SR M6x22 DIN 915 SR M10x25 DIN 912 BH SR 3.0 HANDLE

BHF

Spare Parts

BHF 50

*_A

IHAXF 16/AVI/E
IHAXF 8 1
E—

BHF 32 BL
BHF 50 BL

IHAXF 16/AVI/E
IHAXF 8

4 123 1238
Designation 1 2 3 4
BHF...- 50... SR M5x8 DIN 913 SLEEVE D 8-D16 SR M10x10 DIN 912 BH SR 2.5 HANDLE
SR M5x8 DIN 913 SR
32...BL SR M4x5 DIN 913 M5x12 DIN 913 BH SR 2.0 HANDLE
50... BL SR M5x8 DIN 913 SLEEVED8-D16  SRM10x10 DIN913 SR  BH SR 2.5 HANDLE

() TaeguTec A



BHE MB Spare Parts

BHE

Designation 1 2 3 4 5

BHE MB14-14x30 - SR M3x6 DIN 912 12.9 - BH HW 1.5 HANDLE SR M2.5x3 DIN 913 45H
MB16-16x34 - SR M3x6 DIN 912 12.9 - - SR M3x4 DIN 913 45H
MB20-20x40 - SR M4x8 DIN 912 12.9 - - SR M3x4 DIN 913 45H
MB25-25x50 - SR M5x10 DIN 912 12.9 - - SR M4x6 DIN 913 45H
MB32-32x63 - SR M6x12 DIN 912 12.9 - BH HW 2.5 HANDLE SR M4x6 DIN 913 45H
MB40-40x80 SR M8x14 DIN 912 12.9 - - SR M5x10 DIN 913 45H
MB50-50x80 [BH NUT 10 SR M10x25 DIN 912 12.9 SR M10x16 DIN 913 456H BH HW 3.0 HANDLE SR M6x10 DIN 913 45H
MB63-63x89 - SR M10x20 DIN 912 12.9 - - SR M6x10 DIN 913 45H
MB80-80x104 - SR M10x25 DIN 912 12.9 - - SR M8x12 DIN 913 45H

H
2 (3> TaeguTec




BHE

Spare Parts

BHE

—
L]

IHRF CH

IHRF BW

3 3
Designation 1 2 3
BHE MB50-50x80 SR M5x12 DIN 912 SR M10x20 DIN 912 SR M10x25 DIN 912
MB63-63x89 SR M5x25 DIN 912 SR M10x20 DIN 912 SR M10x25 DIN 912
MB80-80x104 SR M5x25 DIN 912 SR M10x20 DIN 912 SR M10x25 DIN 912
BHE Spare Parts
BHE MB32-32X53 H < 14AxF 18/AVI/E BHE MB63-63X89 IHAXF 18/AVI/E—
EEE mggggggg H | HAXF 8 BHE MB80-80X104
—1 = [ﬂ
123 1
Designation 1 2 3 4
BHE MB32-32x53 H SR M5x5 DIN 913 SR M5x8 DIN 913 BH SR 2.5 HANDLE
SR M5x5 DIN 913 - SRM5x12DIN913  BH SR 2.5 HANDLE
MB50-50x60 H SR M6x8 DIN 913 SLEEVE D 8-D16 SR M10x10 DIN 913 BH SR 3.0 HANDLE
MB50-50x8 SR M6x8 DIN 913 - SR M10x10 DIN 913 BH SR 3.0 HANDLE
MB63-63x89 SR M6x8 DIN 913 SR M6x6 DIN 913 BH SR 3.0 HANDLE
MB80-80x104 SR M6x12 DIN 913 SR M6x6 DIN 913 BH SR 3.0 HANDLE

) TaeguTec

75



BHC

Spare Parts

Designation

1

2 3 4 5

BHC MB25-25x57

SR M4x8 DIN 913

BHSRM4x11 DIN912PT BHNUT-BHC MB25 BH SR2.0 HANDLE SR M4x5 DIN 913

MB32-32x71

SR M5x10 DIN 913

BH SR M5x12.5 DIN 912 PT BH NUT-BHC MB32 BH SR 2.5 HANDLE SR MS5x5 DIN 913

MB40-40x90

SR M6x12 DIN 913

BH SRM6x16 DIN912 PT  BHNUT-BHC MB40 BH SR3.0 HANDLE SR M6x6 DIN 913

MB50-50x87

SR M6x14 DIN 913

BHSRM8x20 DIN912PT  BHNUT-BHC MB50 BH SR 3.0 HANDLE SR Méx8 DIN 913

MB63-63x109

SR M6x16 DIN 913

BH SR M10x26 DIN 912 PT BHNUT-BHC MB63 BH SR 3.0 HANDLE SR M6x8 DIN 913

MB80-80x130

SR M6x20 DIN 913

BH SR M12x30 DIN 912 PT BHNUT-BHC MB80 BH SR3.0 HANDLE SR M6x12DIN 913

BHR Spare Parts
9 %]
2 2
| & HFRCH |H IHRF BW
Designation 1 2 3
BHR MB16...16 BH NUT BHR MB16 SR M3x14 DIN 912 SR M3x4 DIN 913
MB20...20 BH NUT BHR MB20 SR M4x15DIN 912 SR M3x5 DIN 913
MB25...25 BH NUT BHR MB25 SR M4x20 DIN 912 SR M3x8 DIN 913
MB32...32 BH NUT BHR MB32 SR M5x25 DIN 912 SR M4x12 DIN 913
MB40...50 BH NUT BHR MB40 SR M6x30 DIN 912 SR M5x14 DIN 913
MB50...50 BH NUT BHR MB50 SR M8x35 DIN 912 SR M5x12 DIN 913
MB50...63 BH NUT BHR MB63 SR M10x40 DIN 912 SR M6x16 DIN 913
MB63...63 BH NUT BHR MB63 SR M10x40 DIN 912 SR M6x16 DIN 913
MB80...80 BH NUT BHR MB80 SR M12x45 DIN 912 SR M8x25 DIN 913

] (5> TaeguTec



TCH Spare Parts

IH...160-800
L7
=
1
— 2
Designation 1 2 3 4
TCH 200-300-400 BHTCHNUTA BHTCHNUTB BHTCHNUTC SR M12x40 DIN 912
500-600-700 BHTCHNUTA BHTCHNUTB BHTCHNUTC SR M12x40 DIN 912
Designation 5 6 7 8
TCH 200-300 SRM8x40DIN915 ~ SRM12x35DIN912  BH SERRATED PLATE 200-300 SR M8x25 DIN 912
400 SRM8x40DIN915  SRM12x35DIN912  BH SERRATED PLATE 400-700 SR M8x20 DIN 912
500-600-700 SRM8x40DIN915 ~ SRM16x50DIN912  BH SERRATED PLATE 400-700 SR M8x25 DIN 912
TCH Spare Parts

IHFF..., IHRF...
IHRF...CH, IHRF..BW

10

1

BHF L200
1
6
Designation 1 2 3 4 5
TCH 200-300-400 BHTCHNUTA BHTCHNUTB BHTCHNUTC  SRM12x40DIN912 SR M8x40 DIN 915
500-600-700 BHTCHNUTA BHTCHNUTB BHTCHNUTC  SRM12x40DIN912 SR M8x40 DIN 915
Designation 6 7 8 9 10 1
TCH 200-300 SRM12x35  BH SERRATED SR M8x25 SR M10x20 SR M6x8 BHSR 3.0
DIN912 PLATE 200-300 DIN912 DIN912 DIN915 HANDLE
400 SRMi2x35 ~ BHSERRATED  SRM8x20 SRM10x20 SR M6x8 BHSR30
DIN912 PLATE 400-700 DIN912 DIN912 DIN915 HANDLE
500-600-700 SRM16x50  BHSERRATED  SRMB8x25 SR M10x20 SR M6x8 BHSR3.0
DIN912 PLATE 400-700 DIN912 DIN912 DIN915 HANDLE




ADBH

Spare Parts

1
0
‘F\\\ NG
|
1
Designation 1
ADBH 30xD16 SR M45x8 DIN 913
BBH-D Spare Parts
IHRF... IHRF...CH.: IHRF...BW..

2 2 1 2 1

Designation 1 2
BBH D16x63 SR M5x12 DIN 912 WASHER DIN 125A M5
D16x105 SR M5x12 DIN 912 WASHER DIN 125A M5

7] (3> TaeguTec




BHFH

Spare Parts

IHRF...CH..

IHRF...BW..

Designation 1

BHFH 30x75 SR M10x18 DIN 912
40x133 SR M10x18 DIN 912
30x93 SR M10x18 DIN 912
40x200 SR M10x25 DIN 912
30x135 SR M10x25 DIN 912
40x300 SR M10x25 DIN 912
40x400 SR M10x25 DIN 912

BHEH

Spare Parts

IHRF...BW..

Designation 1

BHEH 24x75 SR M10x20 DIN 912
28x80 SR M10x25 DIN 912
28x108 SR M10x25 DIN 912
28x148 SR M10x25 DIN 912

l-i',‘ TaeguTe

79




EMH MB

Spare Parts

Screws for EMH
. I
£l
ol
Designation Screw #1 Screw # 2
EMH MB50-6 EMH 50-6 SCREW M6x10 EM SCREW
MB50-8 EMH 50-8 SCREW M8x10 EM SCREW
MB50-10 EMH 50-10 SCREW M10x12 EM SCREW
MB50-12 EMH 50-12 SCREW M12x16 EM SCREW
MB50-14 EMH 50-14 SCREW M14x16 EM SCREW
MB50-16 EMH 50-16 SCREW M14x16 EM SCREW
MB50-20 EMH 50-20 SCREW M16x16 EM SCREW
MB63-16 EMH 63-16 SCREW M14x16 EM SCREW
MB63-20 EMH 63-20 SCREW M16x16 EM SCREW
MB63-25 EMH 63-25 SCREW M18x20 EM SCREW
MB63-32 EME 63-32 SCREW M18x20 EM SCREW
MB80-40 EMH 80-40 SCREW M20x20 EM SCREW

> TaeguTec




CC MB...-ER...

Components for CC

Spare Parts

Designation 1 2 Wrench

CC MB16-ER11M CC MB16 SCREW NUT ER11 MINI WRENCH ER11 MINI
MB20-ER16M CC MB20 SCREW NUT ER16 MINI WRENCH ER16 MINI
MB25-ER20M CC MB25 SCREW NUT ER20 MINI WRENCH ER20 MINI
MB32-ER25M CC MB32 SCREW NUT ER25 MINI WRENCH ER25 MINI
MB40-ER25 CC MB40 SCREW NUT ER25 TOP WRENCH ER25
MB50-ER25 CC MB50 SCREW NUT ER25 TOP WRENCH ER25
MB50-ER32 CC MB50 SCREW NUT ER32 TOP WRENCH ER32
MB63-ER32 CC MB63 SCREW NUT ER32 TOP WRENCH ER32
MB63-ER40 CC MB63 SCREW NUT ER40 TOP WRENCH ER40

AMT MB...-MT Spare Parts

Screw for shanks: Morse taper tang AMT

=
[ a——

Designation 1
AMT MB50-MT2 AMT MT2-SCREW
MB50-MT3 AMT MT3-SCREW
MB63-MT3 AMT MT3-SCREW
MB63-MT4 AMT MT4-SCREW

) TaeguTec




SMH MB

Screw for shell mill holders SMH

Spare Parts

Designation 1 2 3 4
SMH MB40-22 M10 CLAMP SCREW SEM 22  DOG DRIVE SMH 22 KEY SMH22  M4x10 SMH KEY SCREW
MB50-16 M 8 CLAMP SCREW SEM 16 DOG DRIVE SMH 16 KEY SMH 16 M3x 8 SMH KEY SCREW
MB50-22 M10 CLAMP SCREW SEM 22  DOG DRIVE SMH 22 KEYSMH?22  M4x10 SMH KEY SCREW
MB50-27 M12 CLAMP SCREW SEM 27  DOG DRIVE SMH 27 KEY SMH27  M5x12 SMH KEY SCREW
MB50-32 M16 CLAMP SCREW SEM 32  DOG DRIVE SMH 32 KEY SMH 32 M6x16 SMH KEY SCREW
MB63-27 M12 CLAMP SCREW SEM 27  DOG DRIVE SMH 27 KEYSMH?27  M5x12 SMH KEY SCREW
MB63-32 M16 CLAMP SCREW SEM 32  DOG DRIVE SMH 32 KEYSMH32  M6x16 SMH KEY SCREW
MB80-32 M16 CLAMP SCREW SEM 32  DOG DRIVE SMH 32 KEY SMH 32 M6x16 SMH KEY SCREW
MB80-40 M20 CLAMP SCREW SEM 40  DOG DRIVE SMH 40 KEYSMH40  M6x18 SMH KEY SCREW
NUTER...TOP Spare Parts

ER - Top™ clamping nut
DIN 6499
G1
3 .
(- o L
L Dimension (mm)
Designation D3 L G

NUT ER16 TOP 28 17 M22x1.5

ER20 TOP 34 19 M25x1.5

ER25 TOP 42 20 M32x1.5

ER32 TOP 50 22 M40x1.5

ER40 TOP 63 25 M50x1.5

> TaeguTec



NUT ER-MINI/UM

ER clamping nut

Spare Parts

UM ER 25,32,40,50

Gi1 H‘
|

e

D3

UM ER 16,20

G1—
\
e

D3

UM ER 11,16,20,25 MINI

Dimension (mm)

Designation D3 L G
NUT ER11 MINI 16 10.8 M13x0.75
ER11 UM 19 11.3 M14x 0.75
ER16 MINI 22 18 M19x1.0
ER16 UM 28 17 M22x1.5
ER20 MINI 28 19 M24x1.0
ER20 UM 34 19 M25x1.5
ER25 MINI 85 20 M30x1.5
ER25 UM 42 20 M32x1.5
ER32 UM 50 22 M40x1.5
ER40 UM 63 25 M50x1.5
ER50 UM 78 55 M64x2.0

> TaeguTec




Recommended Cutting Conditions
BHR rough boring heads

Cutting depth
B ap (mm) ap (mm)
e d oy Working range Steel Cast iron, Aluminum
18-28 1.5-2 2-2.5
@% 28-50 2-3 2.5-35
) M ) 50-68 3-4 355
gigldevzlggtr)ifgkt)):ﬁégitamger d 68-200 4-5 5-7
200-500 5-6 6-8

* In case of a single or a stepped boring cutter configuration, only half the feed should be applied

> TaeguTec




Recommended Cutting Conditions

Fine boring heads

3@9

IE o S5

Stability «-+ — Good

«« — Normal
— Poor
. Feed f=mm/rev .
Material LD Stability C(‘\‘}gﬂgnfgﬁgd Insert radius Cutting depth
= R=0.2 R=0.4 (@p)
UD=25 200-300 0.05-0.08 0.08-0.10
gg’b;(;‘osme' L/D=4 160-250 0.05-0.08 0.08-0.10
s L/D=6.3 70-100 0.05-0.08 -
LD=25 160-250 0.05-0.08 0.08-0.10
ﬁgrb:gosme' L/D=4 .- 150-200 0.05-0.08 0.08-0.10
& L/D=6.3 70-100 0.05-0.08 -
LD=25 150-200 0.05-0.08 0.08-0.10
Stainless steel D=4 120-180 0.08-0.10 0.08-0.10
LD=6.3 70-80 0.05-0.08 0.08-0.10
LD=25 120-160 0.05-0.08 0.08-0.10
Qg’g‘é_?gg' L/D=4 100-140 0.05-0.08 0.08-0.10
L/D=6.3 70-100 0.05-0.08 -
LD=25 120-160 0.05-0.08 0.08-0.10
Cast iron D=4 100-140 0.05-0.08 0.08-0.10 01-025
LD=6.3 70-100 0.05-0.08 -
UD=25 300-400 0.05-0.08 0.08-0.10
Aluminum D=4 250-350 0.05-0.08 0.08-0.10
LD=6.3 100-150 0.05-0.08 -

@




Recommended Cutting Conditions

Stability +++ — Good

« —Normal
— Poor
Boring operations with BHC combi rough and fine
Feed f=mm/rev
’ o Cutting speed ; Cutting depth
Material L/D Stability ) s Insert radius
(Ve=m/min) R=0.2 R=04 (mm)
L/D=2.5 160-250 0.1-02 0.1-02
ﬁ;rf;gosme' L/D=4 . 120-180 0.1-0.2 0102 |01503 [15] 2 |25
L/D=6.3 . 70-100 *0.1-0.15 0.1-02
LD=2.5 140-200 0.1-02 0.1-0.2
ﬁg’bzc’gOS‘ee' /D=4 . 100-160 0.1-02 01-02 | 01503 [15| 2 |25
2 LD=6.3 . 70-100 *0.41-0.15 0.1-0.2
. LD=25 100-140 0.1-02 0.1-02
/S\:ZIF;%?;? L/D=4 . 80-110 0.1-02 01-02 | 01503 [15| 2 |25
LD=6.3 . 60-90 *0.1-0.15 0.1-02
LD=2.5 120-160 0.1-02 0.1-02
L/D=4 . 90-120 0.1-02 0102 | 01503 | 2 |25/ 3
LD=6.3 . 60-90 *0.1-0.15 0.1-02
L/D=2.5 250-350 0.1-02 0.1-02
Aluminum L/D=4 . 160-250 0.1-02 0102 | 01503 | 2 |25/ 3
LD=6.3 . 100-150 *0.1-0.15 0.1-02

o *Only for finishing Inserts.
o Use inserts with the same corner radii for both roughing
and finishing inserts.

VC Cutting speed (m/min)
D Diameter of workpiece (m/min) ( {
n Number of revolutions / min' (rev./min)
Vf Feed rate (mm/min.)

Fn Feed (mm/rev)

1 3.14

M:D:n | | |
ve= 1000

NN

VC 1000
m-D

n=

ap roughing ap finishing

—{ Slle—————————

Vi=n-fn

l-i',‘ TaeguTec




Recommended Cutting Conditions

Stability +++ — Good

*+ — Normal
— Poor
BHR rough boring cutting data ap(mm), R(radius), Vc(m/min), f(mm/rev)
Boring range Boring range Boring range
150 | Workpiece | Hardness Overhang D18-28 D28-50 D50-68

material HB LD ap (mm) | 0.5-1.2 1.2-2.5 0.8-1.5 1.5-2.5 0.8-15 1.5-3.0
R (Radius) 0.2 0.4 0.2-0.4 0.4 0.2-0.4 0.4-0.8
25 Ve 150-180 | 120-150 | 160-200 | 140-170 | 160-200 | 140-180
f 0.1-0.2 0.08-0.2 0.15-0.2 | 0.1-0.175 | 0.15-0.25 | 0.08-0.2
Carbon HB<200 4 Ve 140-160 | 100-140 | 160-180 | 120-150 | 160-180 | 120-150
steel f 0.1-0.18 | 0.08-0.15 | 0.1-0.12 | 0.08-0.1 0.1-0.12 | 0.08-0.1

6.3 Ve 60-80 40-60 60-90 50-60 70-90 50-70

f 0.06-0.12 | 0.06-0.1 | 0.06-0.12 | 0.06-0.1 0.06-0.1 0.06-0.1
25 Ve 130-160 | 100-130 | 140-180 | 120-160 | 140-180 | 120-160
f 0.08-0.15 | 0.08-0.12 | 0.08-0.2 | 0.06-0.12 | 0.08-0.25 | 0.08-0.18

Carbon HB>200 4 Ve 110-140 80-110 100-140 80-120 100-140 80-120
steel f 0.08-0.12 | 0.08-0.1 | 0.08-0.15 | 0.06-0.15 | 0.08-0.2 | 0.06-0.15

6.3 Ve 70-90 60-70 80-100 60-80 80-100 60-80

f 0.08-0.1 | 0.06-0.08 | 0.06-0.1 | 0.06-0.08 | 0.08-0.15 | 0.06-0.1

Boring range Boring range Boring range
D68-120 D120-200 D200-500

Workpiece | Hardness | Overhang
1SO LD

material HB ap (mm) 0.8-1.5 1.5-3.5 0.8-2.0 2.0-3.5 0.8-1.5 2.0-4.0

R (Radius) | 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8

25 Ve 160-220 | 150-180 | 180-250 | 160-200 | 220-280 | 200-220
f 015-0.25 | 00802 | 01503 | 0102 | 0.150.3 | 0.1-0.15
SR 4 Ve 140180 | 120-150 | 160-200 | 140-180
HB<200 NR. NR.
steel < f 0.08-0.2 | 0.08015 | 01-0.2 | 0.080.15
63 Ve 70100 | 50-70
N.R. N.R. NR. N.R.
f 0.06-01 | 0.06-0.1
25 Ve 140180 | 120-160 | 150-170 | 100140 | 100-140 | 80-120
f 01503 | 01202 | 0.150.25 | 0102 | 01503 | 0.1-0.2
Calmi 4 Ve 120150 | 100-140 | 100-130 | 80-110
steel HB>200 f 0102 | 01018 | 00802 | 008012 | T NR.
6.3 Ve 80-100 | 60-80 N.R. N.R. NR. N.R.
f 0.08-0.12 | 0.08-0.12

¢ N.R. = Not recommended
¢ In case of a single or a stepped boring cutter configuration, only half the feed should be applied

l} TaeguTec [



Recommended Cutting Conditions

Stability «++ — Good

+ —Normal
— Poor
BHR rough boring cutting data ap(mm), R(radius), Vc(m/min), f(mm/rev)
Boring range Boring range Boring range
1so | Workpiece | Hardness Overhang D18-28 D28-50 D50-68
material HB LD ap(mm) | 051.0 | 1.0-1.8 | 0510 | 1.018 | 051.2 1.2-2.0
R (Radius) 0.2 04 0.2-0.4 0.4 0.2-0.4 0.4-0.8
25 Ve 140-160 90-120 150-180 | 100-130 | 160-200 | 140-180
f 0.08-0.18 | 0.08-0.15 | 0.08-0.2 | 0.08-0.18 | 0.1-0.25 | 0.1-0.15
Alloyed HB<200 4 Ve 100-130 70-100 110-150 90-120 140-180 | 100-130
steel B f 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.08-0.15 | 0.8-0.18 | 0.08-0.12
6.3 Ve 80-100 60-90 80-100 70-90 100-140 80-120
: f 0.08-0.15 | 0.06-0.1 | 0.06-0.12 | 0.06-0.12 | 0.6-0.15 | 0.08-0.1
25 Ve 130-150 | 120-140 | 130-150 | 120-140 | 140-170 | 120-150
f 0.08-0.18 | 0.06-0.15 | 0.08-0.18 | 0.06-0.15 | 0.08-0.2 | 0.08-0.18
Alloyed HE>200 4 Ve 100-130 | 100-120 | 100-130 | 100-120 | 120-150 | 100-120
steel B f 0.08-0.15 | 0.06-0.13 | 0.08-0.15 | 0.06-0.13 | 0.08-0.18 | 0.08-0.15
6.3 Ve 80-100 70-90 80-100 70-90 100-120 70-90
: f 0.08-0.12 | 0.06-0.11 | 0.08-0.12 | 0.06-0.11 | 0.08-0.12 | 0.06-0.11
Boring range Boring range Boring range
1SO Workpiece | Hardness | Overhang D68-120 D120-200 D200-500
material HB L/D ap (mm) 0.8 2.5 0.8-2.0 2.0-3.5 0.8-2.0 2.0-4.0
R (Radius)| 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8
25 Ve 160-220 | 140-180 | 160-220 | 140-180 | 160-220 | 140-180
f 0.1-0.3 0.1-0.25 0.1-0.3 0.1-0.25 | 0.1-0.35 0.1-0.3
Alloyed 4 Ve 150-200 | 120-160 | 120-160 | 120-160
steel HB<200 B f 0.1-0.2 | 0.08-0.18 | 0.1-0.2 | 0.08-0.18 N.R. N-R
6.3 ve 100140 | 100140 |\ o N.R. NR. N.R.
f 0.08-0.18 | 0.08-0.15
25 Ve 160-200 | 140-180 | 140-200 | 140-180 | 140-200 | 140-180
f 0.1-0.3 | 0.01-0.25 | 0.01-0.35 | 0.01-0.3 | 0.01-0.35 | 0.01-0.3
Alloyed 4 Ve 140-160 120-140 150-180 120-140
Stee}; HE>200 a f 0.08-0.2 | 0.08-0.15 | 0.08-0.12 | 0.08-0.12 N.R. N.R.
6.3 Ve 100-120 70-90
! f 0.08-0.16 | 0.08-0.12 N.R N.R. N.R N.R

¢ N.R. = Not recommended
o In case of a single or a stepped boring cutter configuration, only half the feed should be applied

(3 TaeguTec




Recommended Cutting Conditions

Stability «-+ — Good

++ —Normal
— Poor
BHR rough boring cutting data ap(mm), R(radius), Vc(m/min), f(mm/rev)
Boring range Boring range Boring range
150 | Workpiece | Hardness | Overhang D18-28 D28-50 D50-68
material HB L/D ap (mm) 0.5-1.0 1.0-1.8 0.5-1.0 1.0-1.8 0.5-1.2 1.2-2.0
R (Radius) 0.2 0.4 0.2-0.4 0.4 0.2-0.4 0.4-0.8
25 Ve 100-150 110-130 120-160 100-150 120-160 110-160
f 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.06-0.12 | 0.08-0.25 | 0.08-0.18
Stainless | Ferritic & 4 Ve 90-130 90-120 100-140 90-140 100-150 80-120
steel martensitic . f 0.08-0.12 | 0.06-0.1 | 0.08-0.12 | 0.06-0.1 | 0.08-0.18 | 0.08-0.12
6.3 Ve 60-90 50-70 60-90 50-70 70-100 50-70
‘ f 0.06-0.1 0.06-0.1 | 0.06-0.12 | 0.06-0.1 | 0.06-0.15 | 0.08-0.1
25 Ve 110-130 100-130 120-150 110-140 110-160 100-150
f 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.06-0.12 | 0.08-0.25 | 0.06-0.12
Stainless Austenitic 4 Ve 80-110 80-110 90-130 90-120 100-150 90-130
steel . f 0.08-0.12 | 0.06-0.1 | 0.08-0.12 | 0.06-0.1 | 0.08-0.18 | 0.06-0.1
6.3 Ve 60-90 50-70 60-90 50-70 70-100 50-70
M : f 0.06-0.1 0.06-0.1 | 0.06-0.12 | 0.06-0.1 | 0.06-0.15 | 0.06-0.1
25 Ve 90-130 100-130 120-150 110-140 120-160 100-150
. f 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.06-0.12 | 0.08-0.25 | 0.06-0.12
z‘:gl"ess Ferritic & 4 Ve 70-110 | 80-110 | 90-130 | 90-120 | 100-150 | 90-130
—" martensitic . f 0.08-0.12 | 0.06-0.1 | 0.08-0.12 | 0.06-0.1 | 0.08-0.18 | 0.06-0.1
6.3 Ve 60-90 50-70 60-90 50-70 70-100 50-70
: f 0.06-0.1 0.06-0.1 | 0.06-0.12 | 0.06-0.1 | 0.06-0.15 | 0.06-0.1
25 Ve 80-120 70-110 100-150 90-140 110-150 100-150
’ f 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.06-0.12 | 0.08-0.25 | 0.06-0.12
Sl . 4 Ve 70100 | 70-100 | 80-130 | 70-120 | 90-140 | 90-130
steel Austenitic o
cast f 0.08-0.12 | 0.06-0.1 | 0.08-0.12 | 0.06-0.1 | 0.08-0.18 | 0.06-0.1
6.3 Ve 60-90 50-70 60-90 50-70 70-100 50-70
: f 0.06-0.1 0.06-0.1 | 0.06-0.12 | 0.06-0.1 | 0.06-0.15 | 0.06-0.1
Boring range Boring range Boring range
150 | Workpiece | Hardness | Overhang D68-120 D120-200 D200-500
material HB LD ap (mm) | 0.8-1.8 1825 | 0.8-2.0 2030 | 0820 | 2035
R (Radius) | 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8 0.2-0.4 0.2-0.4
25 Ve 130-220 120-200 140-220 120-180 150-220 120-200
f 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25
Stainless | Ferritic & 4 Ve 100-160 90-140 120-180 90-140 NR NR
steel martensitic . f 0.08-0.25 | 0.08-0.18 | 0.08-0.25 | 0.08-0.18 o o
6.3 Ve 70-100 50-70
;. t 008-02 | 0.08:0.15 N.R. N.R. N.R. N.R
25 Ve 120-200 100-160 120-200 100-160 120-200 100-180
f 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25
Stainless Austenitic 4 Ve 100-150 90-140 100-160 90-140 N.R. N.R.
steel . f 0.08-0.25 | 0.08-0.18 | 0.08-0.25 | 0.08-0.18 | 0.08-0.18 | 0.06-0.1
6.3 Ve 70-100 50-70
: f 0.08-0.2 | 0.08-0.15 NR. NR. NAR. NR.
M 25 Ve 130-200 120-180 140-200 120-160 140-200 120-180
. f 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25
Stainless | Ferriic & 4 Ve | 110-150 | 90-150 | 100-160 | 90-140 | NR. NR.
o martensitic ° f 0.08-0.25 | 0.08-0.18 | 0.08-0.25 | 0.08-0.18
6.3 Ve 70-100 50-70 N.R.
: f 0.08-0.2 | 0.08-0.15 NR. NR. NR.
25 Ve 130-180 120-180 120-200 100-160 120-200 100-180
. f 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25
Stt:;'?less Austenitic 4 Ve 100-140 90-140 100-160 90-140 NR. NR.
e ° Vf 0.7008-109.35 0233018 0.08-0.25 | 0.08-0.18
6.3 c - -
: f 0.08-0.2 | 0.08-0.15 NR. NR. NR. NR.
eNR.= ruk
. I’\rl1 I(::{ase,\i)(f)tar 2icr?g:rjrllem(?rng gsepped boring cutter configuration, only half the feed should be applied l' r Taeg UTec




Recommended Cutting Conditions

Stability +++ — Good

« —Normal
— Poor
BHR rough boring cutting data ap(mm), R(radius), Ve(m/min), f(mm/rev)
Boring range Boring range Boring range
150 | Workpiece | Hardness Overhang D18-28 D28-50 D50-68
material HB L/D ap (mm) 0.5-1.0 1.0-1.8 0.5-1.0 1.0-1.8 0.5-1.2 1.2-2.0
R (Radius) | 0.2-0.4 0.4 0.2-0.4 0.4 0204 | 04-0.8
25 Ve 120-160 | 100-140 | 120-180 | 110-150 | 120-180 | 110-150
f 0.06-0.15 | 0.06-0.18 | 0.06-0.15 | 0.06-0.12 | 0.08-0.2 | 0.08-0.12
Gray 4 Ve 100-140 | 80-120 | 100-150 | 80-120 | 100-150 | 80-120
castiron | HB<200
GG 10-25 - f 0.06-0.12 | 0.06-0.1 | 0.06-0.12 | 0.06-0.1 | 0.08-0.12 | 0.08-0.1
6.3 Ve 70-100 60-90 70-100 60-90 70-100 60-90
: f 0.06-0.1 | 0.06-01 | 0.06-0.1 | 0.06-0.1 | 0.08-0.1 | 0.08-0.1
25 Ve 140-200 | 140-200 | 140-220 | 160-250 | 180-220 | 200-280
f 0.06-0.15 | 0.06-0.18 | 0.06-0.15 | 0.06-0.18 | 0.08-0.2 | 0.1-0.25
Sar:tyiron 4 Ve 120-160 | 120-160 | 120-180 | 140-200 | 140-180 | 180-220
GG 25-40 - f 0.06-0.12 | 0.06-0.14 | 0.06-0.12 | 0.06-0.14 | 0.08-0.12 | 0.08-0.2
6.3 Ve 70-100 60-90 70-100 60-90 60-100 | 60-120
: f 0.06-0.1 | 0.06-0.1 | 0.06-0.1 | 0.06-0.1 | 0.08-0.1 | 0.08-0.1
25 Ve 120-180 | 120-180 | 120-200 | 140-220 | 180-220 | 180-240
f 0.06-0.15 | 0.06-0.18 | 0.06-0.15 | 0.06-0.18 | 0.08-0.18 | 0.1-0.2
Castiron | Spheroidal 4 Ve 120-160 | 120-160 | 120-180 | 140-200 | 140-200 | 160-220
GGG & graphite - f 0.06-0.12 | 0.06-0.14 | 0.06-0.12 | 0.06-0.14 | 0.08-0.12 | 0.08-0.18
6.3 Ve 60-100 60-90 60-100 60-90 60-90 60-100
: f 0.06-0.1 | 0.06-0.1 | 0.06-0.1 | 0.06-0.1 | 0.08-0.1 | 0.08-0.1
Boring range Boring range Boring range
1S0 Workpiece | Hardness | Overhang D18-28 D28-50 D50-68
material HB LD ap(mm) | 08-1.8 | 1.825 | 0820 | 2030 | 0820 | 2035
R (Radius)| 0.2-0.4 | 04-08 | 0204 | 04-08 | 0204 | 0408
25 Ve 120-200 | 110-150 | 150-250 | 180-280 | 150-250 | 180-280
. f 0.08-0.25 | 0.08-0.3 | 0.08-0.25 | 0.08-0.35 | 0.08-0.25 | 0.08-0.35
Y 4 Ve 100-150 | 80-120 | 120-170 | 120-170
castron | 18200 - f 008018 | 00802 | 0080.18 | 008025 | " NR
6.3 Ve 70-100 60-90
: : 008015 Tooso1z| MR N.R. N.R. N.R.
25 Ve 50-300 | 250-350 | 250-350 | 250-350 | 250-350 | 250-350
f 0.12-0.35 | 0.12-0.35 | 0.15-0.3 | 0.15-0.4 | 0.15-0.3 | 0.15-0.4
g:g'imn 4 Ve 200-270 | 230-300 | 200-300 | 200-270 NR NR
GG 2540 f 0.1-0.25 | 0.12-03 | 0.150.3 | 0.15-0.35
6.3 ve 70150 | 60120 |\ g NR. NR. NR.
: f 0.1-0.15 | 0.12-0.25
o5 Ve 200-240 | 200-280 | 200-280 | 220-300 | 220-300 | 220-300
f 0.12-0.3 | 0.12-0.3 | 0.15-0.3 | 0.15-0.35 | 0.15-0.3 | 0.15-0.35
Castiron | Spheroidal 4 Ve 160-220 | 180-240 | 180-250 | 200-270
, ; N.R. N.R.
GGG & graphite : f 0.1-0.2 | 0.12-0.25 | 0.15-0.25 | 0.15-0.35
6.3 Ve 60-100_| 60100 |\ o NR. NR. NR.
: f 0.1-0.15 | 0.12:0.2

¢ N.R. = Not recommended
¢ In case of a single or a stepped boring cutter configuration, only half the feed should be applied

> TaeguTec




Recommended Cutting Conditions

Stability +++ — Good

*+ — Normal
— Poor
BHR rough boring cutting data ap(mm), R(radius), Ve(m/min), f(mm/rev)
Boring range Boring range Boring range
150 | Workpiece | Hardness Overhang D18-28 D28-50 D50-68
material HB LD ap (mm) | 05-15 1525 | 0515 1.5-2.5 0.5-2.0 1.2-3.0
R (Radius) | 0.2-0.4 0.4 0.2-0.4 0.4 0.2-0.4 0.4-0.8
25 Ve 200-300 240-350 200-300 240-350 200-300 240-350
f 0.06-0.2 | 0.06-0.25 | 0.06-0.2 | 0.06-0.25 | 0.06-0.25 | 0.06-0.3
Aluminum/ 125 4 Ve 150-220 150-220 150-220 150-220 150-220 150-220
Cast ° f 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2
6.3 Ve 60-100 60-100 60-100 60-100 60-100 60-100
° f 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1
25 Ve 180-250 220-280 180-250 220-280 180-250 220-280
f 0.06-0.2 | 0.06-0.25 | 0.06-0.25 | 0.06-0.25 | 0.06-0.25 | 0.06-0.3
Aluminum/ <125 4 Ve 120-220 120-220 120-220 120-220 120-220 120-220
Cast ° f 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2 | 0.06-0.25
6.3 Ve 60-100 60-100 60-100 60-100 60-100 60-100
) f 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1
Boring range Boring range Boring range
1SO Workpiece | Hardness | Overhang D68-120 D120-200 D200-500
el HB LD ap(mm) | 08-30 | 1.8-40 | 0830 | 2040 | 0830 | 2045
R (Radius) | 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8
25 Ve 200-300 240-350 200-300 240-350 200-300 240-350
f 0.06-0.25 | 0.06-0.3 | 0.06-0.25 | 0.06-0.4 | 0.06-0.25 | 0.06-0.4
Aluminum/ . 4 Ve 150-220 150-220 150-220 150-220
Cast >1si - f 00602 | 00602 | 00602 | 00602 | T N-R
6.3 Ve 60-100 | 60-100 | o N.R. N.R. N.R.
) f 0.06-0.1 0.06-0.1
25 Ve 180-250 220-280 180-250 220-280 180-250 220-280
f 0.06-0.25 | 0.06-0.3 0.06-0.3 0.06-0.4 0.06-0.3 0.06-0.4
Aluminum/ o 4 Ve 120-220 120-220 120-220 120-220
Cast <tasi - f 00602 | 006025 | 00602 | 006025 | T N-R
6.3 Ve 60-100 60-100 NEA. N.R. NR. NER.
) f 0.06-0.1 0.06-0.1

* N.R. = Not recommended
¢ In case of a single or a stepped boring cutter configuration, only half the feed should be applied

) TaeguTec




Technical Data

» Fine boring head BHF 16-50 and BHE operating instructions

= Assembly
- When mounting the BHF boring head, the expanding pin should be kept tightly inside the cylindrical body
- Insert the BHF into the shank
- Tighten the pin@by turning clockwise
The recommended tightening torque guidelines are as follows:

Recommended Torque (N-m)

BHF MB16 - 16 x 34 20-25
BHF MB20 - 20 x 40 40-45
BHF MB25 - 25 x 50 6.5-75
BHF MB32 - 32 x 63 70-8.0
BHF MB40 - 40 x 80 16.0-18.0
BHF MB50 - 50 x 60 30.0-35.0

- Insert screw @ until it completely enters the recess in the sleeve nut or boring bar

= Disassembly
- Loosen the pin@by turning counter-clockwise

= Positioning
- Loosen the screw @ before making any slide adjustment
- By turning the graduated dial @ counterclockwise,
set the tool slide@allowance for a 4mm adjustment
- Lock the tool slide by means of screw@, to the desired position
- Lock the screw @
- When making any slide adjustment, firstly loosen the screw @

= Maintenance
Weekly:
- Lubricate through the oiling nipple @ with ISO UN G220 oil
Periodically:
- Clean the conical cylindrical surface and then lubricate
- Grease the expanding pin @ with an anti-friction lubricant
- Clean and lubricate the tool slide guideway

= |mportant note:
- Toolholder should be firmly affixed to the slide at all times

* Due to back-lash phenomenon, if you pass the required value, turn the dial® in the reverse direction at least
one rotation and then re-adjust in the original direction

> TaeguTec



@ Body
@ Expanding pin
*9 Graduated dial

’b Slide locking screw

© Toolholder locking screw

@ Coolant nozzle

Reduction sleeve
[ IHAXF

@ Slide holder
@ Oiling nipple
© Tool bore .63H7

Sleeve
Nut
|

IHAXF

BBH

= 73
e =0
=q N

HHEE HHFF
s

@ Slide adjusting range
Do not exceed the range marks!!

@ Cutting edge position mark

) TaeguTec




Technical Data

» Fine boring head BHF 63-125 operating instructions

= Assembly

- When mounting the BHF boring head, the expanding pin should be kept tightly inside the cylindrical body
- Insert the BHF into the shank
- Tighten the pin@by turning clockwise

The recommended tightening torque guidelines are as follows:

Recommended Torque (N-m)
BHF MB50 - 63 x 87 30-35
BHF MB50 - 80 x 94 30-35
BHF MB63 - 63 x 87 80-90
BHF MB80 - 80 x 94 80-90
BHF MB80 - 125 x 94 80-90
BHF MB50 - 50 x 60 30.0-35.0

- Insert screw @ until it completely enters the recess in the sleeve nut or boring bar

= Disassembly
- Loosen the pin@by turning counter-clockwise

= Positioning
- Loosen the screw @ before making any slide adjustment
- By turning the graduated dial @ counterclockwise,
set the tool slide @allowance for a 4mm adjustment
- Lock the tool slide by means of screw@, to the desired position
- Lock the screw @
- When making any slide adjustment, firstly loosen the screw @

= Maintenance
Weekly:
- Lubricate through the oiling nipple @ with ISO UN G220 oil
Periodically:
- Clean the conical cylindrical surface and then lubricate
- Grease the expanding pin @ with an anti-friction lubricant
- Clean and lubricate the tool slide guideway

= |mportant note:
- Toolholder should be firmly affixed to the slide at all times

* Due to back-lash phenomenon, if you pass the required value, turn the dial® in the reverse direction at least
one rotation and then re-adjust in the original direction

> TaeguTec



@ Lw

ADBH 30xD16

PRAtai A

IHAXF

© Body ’b Slide locking screw @ Slide holder  © Toolholder locking screws
@ Expanding pin ® Toolholder locking screw @ Qiling nipple @ Slide adjusting range

* ) Do not exceed the range marks!!
© Graduated dial @ Coolant nozzle o

) TaeguTec




a TaeguTec




